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(a) Distinguish between Skewness and Kurtgg;, E
S, JXP"

various tests of skewness.

(b) X appeared in three tests of 20, 50 and 30 m.

respectively. He obtained 75% marks in the firsti
60% marks in the second test. What percentage of m|
should he score in the third test to make an aggre,

of 60% ?

(c) First four moments of a distribution about the valu

are 1, 4, 10 and 45. Calculate moments about mean:

origin. (5,5
OR

(a) In a distribution, the first four moments about a vi
5 are 2, 10, 40 and 50. Calculate 3, and {3, and comn

upon the nature of the distribution.

(b) A scooterist purchased petrol at the rate of Rs.
Rs. 45.50 and Rs. 46 per litre during three succes'
days. Calculate the average price of petrol: (1
he purchased 15, 16 and 17 litre of petrol on
successive days, (ii) If he spent Rs. 2200, Rs. 250/

Rs. 2600 on three successive days.

54
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(c) Montaly wages paid to workers 1In firms A and B,

belonging to the same industry gives the following

results :

Firm A Firm B
Number of wage earners 586 648
Average monthly wages (Rs) 5250 4750
S.D. of wages (Rs) 1000 1210

(i) Which firm A or B pays out larger monthly wages ?

(i) Which firm has a greater variability in wages ?
(5,5,5)

(3r) fowrr st waE (Kurtosis) ¥ v &R | fwwmar &
fafi/r et &1 aof= #ifw |

() X @ W& - 20, 50, 30 WA W WNT orr | SUE YRS
AT ¥ 75% HH 3N LA G ¥ 60% Ih IR T | JaD
dEe we ¥ fRe tE qR BF wmd 60% I wF o |

(¥) ¥ 4 & wom 9N AA=<@ (Moments) 2 1, 4, 10, 45 ieA
(Mean) 7o IGM & W@ (Moments) &t 0T R |

AT



b2

&) Tw AU R, TG 5 D W IR AeweE (Moments) 2,
s0. 3k 50 F1 P, R B, & AT IR sk Ry
Wﬁ $ WX A foooh T |

(@) T IR R | vw =elke ¥ 244, 24550 3R 7,
TR SR W @A | IO W OSET qem W o
(i) ol I& @ IR fR=d =Y 15, 16, 3k 17 ;X
S (ii) R IFT T IR Rad #2200, 20
T 22600 =T Y |

) ﬁa&ﬁza,wﬁsﬁw%amﬁuaﬁmwaﬁw

B A o
TG WA Al w wE 586 648
STeT AMew Al () 5250 4750
T FOS.D. (]) 1000 1210

(1) ‘ﬁﬁAaﬁtwﬁBﬁ‘qﬁ-—rmwmﬁ%ﬁ%?
(i) 7% o & Wl @ s Rge o 7

(8) A computer while calculating the coefficient ©

correlation between two variables X and Y from :

Palrs of observations obtained the following results:
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TX =120, $X2=600, LY =90, £Y*=250, XY =356.

It was however, discovered at the time of checking that

it had copied down two pairs as:

o x [y |
K 10 |
| 12 7 |

While the correct values were;

X Y
g | 12
| 10 | 8

Obtain the correct value of correlation coefficient.

(b) Explain briefly the additive and multiplicative models of

time series. Which of these models is more popular in
practice and why ?

(¢) Twenty passengers were found ticketless on a bus. The
sum of squares and the standard deviation of the amount
found in their pockets were Rs. 2000 and Rs. 6
respectively. If total fine imposed on these passengers
is equal to the total amount recovered from them and
fine imposed is uniform, what is the amount of fine

recovered from each passenger ? : (5,5,5)

P.T.O.
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OR

) A study of examination results of a batch of 20 stude;
wed the mean marks as 60 and standard deviatj,

s 5 in the first term. The same batch scor.

(a
sho

of marks a
mean and S.D of marks as 70 and 10 respectively.

the second term. Which term has greater absolute &

relative dispersion ? Comment ol the improvement;

their performance.

(b) Identify the components of time series. Also explar

uses of time series in economic analysis.

£
By

(¢) (i) The median of a symmetrical distribution is 15. &

the coefficient of quartile deviation is 2/3, find firs

and third quartile.

(ii) “Coefficient of correlation between X and Y is

0.85 and the regression coefficient of X on Y 1s -

0.76”, Comment.

(1ii) What would be the value of correlation if two

regression lines intersect each other at right

angles ?
B (5,5.5)

#) v :
(F) o &¥ge? g 2t fAueml X 3R Y & 30 el & Jraesd
T e afem g go
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2X =120, ZX? =600, XY =90, Y2 =250, TXY = 356

ﬁﬁm%wz@ww%sﬁasﬁ,@faﬁmmﬁ
& forar o

e 1 9
X Y |
8 12
10 8 ;

FEEET I @ WE Aed S 0 SR |

() wfrw symar @ e (Additive) 3 rommms
(Multiplicative) S HE H AU AR | EEr ¥ SN Hee
i EE W e ehia 2 s @6y 9

(%) R WA 20 A R R A g O ¥ W o g
F WS SN M e w2000 3k 26 q | R 3
A T F W I e iy D wner @) G wde )
q AT B (Fine) € R 81 2

Jrqar

P.T.O.
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(31) wzoﬁaﬁﬁ%ﬁqﬁwﬁﬁm (Mean) 0 g2
FA o AR RO 5 A F WT A W R gy,
1 A 70 IR A= e 10w o | 6 ' Ay,
IR aifie oo dk w@Er 2 7 Ie FemeT ¥ guR o
§ Rordt @R |

(@) @@ sy@en (Time Series) & @l &l TE1- | T90 gy
& A¥w fgewer § yam w N fraedt ifse

@) (i) vw @ faww &1 wemer (Median) 2 15 1 of
TgEE T o QR 2/3 2 W W ek e
TYHF T AR |

(ii) “X@TY%WWWU%%@?YW
C X Y S -0.76 %”,Rr%mﬁﬁﬁwf

(i) af 2 wwE Y v @ A T ik @ A
F1C T WA K A w4 AT |

3. (a) 15,000 students appeared in an examination. The me#

and standard deviation of marks were 49 and !

respectively. Assuming the marks to be normell
distributed;
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(1) What proportion of students scored more than 55
marks ?

(1) If in the same examination, grade A is assigned to

students scoring more than 70 marks, what

proportion of students will receive grade A ?

(b) Write a short note on CNX Nifty Index.

(¢) The trend equation for quarterly sales of a firm is
estimated to be as;

Y=20+2X

Where Y is sales Per quarter in million of rupees, the
unit of X is one quarter and the origin is the middle of

the first quarter (Jan-March) of 2009. The seasonal

indices of saleg for four quarters are as follows:

Quarter Seasonal Indices
I 120
I1 105
1 85
[v 90

Estimate the aciug] sales for cach quarter of 2014

(5,5.9)

PO
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OR :

(a) The price of a commodity during 2009-2013 is g,

below,
Year Price
2009 100
2010 107
2011 128
2012 140
2013 180

— g + bX + cX? to the above gives.

Fit a parabola Y =
14.

data and estimate the price for the year 20

(b) What is secular trend ? Discuss any one method 0

isolating trend values in a time series.

(c) Between 2 and 4 p.m, average number of phone Ca”

per minute coming into the EPBAX of a compaﬂ}’
2.5, find the probability that during one particular min

there will be;

ft

(i)' no phone calls,
(i) exactly three calls,

(i) at least two calls 5.-
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(ar) 15,000 Foremet wden # wRAe T | Fert & WA (Mean)
49 3R AE FEe 6 ¥ | g8 AFd g¢ fR e WErE

faafta o

(i) freer frefidl & SiwE T 55 e ¥ e W
&

(i) R @ wen ¥, fm Ferd ¥ 70% ¥ FUF R
we 7R 3R e v e wien ® @ et & s
T AT T W w N

(@) CNX Nifty gueis ™ & @y oo i |

(@) e o e st @ g e e s o
IS .

Y=20+2X

WWY%WWWWﬁ)Wx%W
foomdt won S 2 2009 R W R w1 wem (EQ -
)
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e HEH Terehien
! 120
i 105
11 | s
v 00

Jo @ T R R et R w1 e i
e

(3r) 2009-2013 2 S v WWE W T AN Rar e e

= T
2009 100
2010 107
2011 {98
2012 140
2013 120

T e (Parabola) Y = a+ bX + cX2 W
ﬁ»—cﬁﬁasﬁtzoma}mwm -

(@) “ﬁﬁﬁaﬂiﬁ‘* (Secular Trend) =1 2 7 Wmﬁm
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(@) wF FF & EPBAX W 2 3k 4 PM & WA 3Ed B
wfer wfa e 2.5 %,Wmﬁw'ﬁﬁwﬁﬁ?m%ﬁﬁ

(i) FS BT @A A6l

(i
(i)

Wﬁﬁ:?ﬂ??ﬁﬂ

Fq ¥ 9 & Hid

4. (a) Table below shows the average wages in rupees per

week of a group of in

dustrial workers during the year

2007-2014. The consumer price indices for these years

with 2007 as base are also given,

4 Year
2007
2008
2009
2010
2011
2012
2013
2014

Average wage of workers (Rs)
1190
1330
1440
1570
1750
1840
1890
1940

CPI
100
107.6
106.6
107.6
116.2
118.9
119.8
120.2

(i) Determine the real wages of workers during 2007-

P.T.0.
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(ii) Determine the purchasing power of rupee f,

7

.~ e

the significance of this result ?

(b) Explain briefly statistical decision theory. What are.

key ingredients ? (9
OR
(a) Differentiate between :
(1) Priori probability and posterior probability and

(i1) Independent events and mutually exclusive event

‘.

(b) A food product company is contemplating t&
introduction of a new product with new packaging!
replace the existing product at much higher price (S
or a moderate change in the composition of existir
product with a new packaging at a small increase
price (S,) or a small change in the composition of tb
existing except the word ‘new’ with negligible increas

in price (S;). The three possible states of nature are: ('

e

1igh increase in sales (N . ‘
gh increase in sales (N ), (ii) no change in sales (
and (111) decrease in sales (N

departm £ 1
&‘L\_f_‘.;r?z\'.ef\\i ":—\'i ti’l’c Cc?m?)ep‘\,' “71\‘,
1ik} 212 W

GYiy ot e -
H \/ ¥ 1 ™YY/ P P i
11 TTOT1IQ TOSYT Aamb
¥ S Lil.D @) £9 oy L 2 PN §
b - NS 4 W G4 i_"t"»: 151! L QL T L oA ¢ -y ¥ £ o

-



Payoff in Rs.
Strategies N, N, N,
S, 7,20,000 3,00,000 1,50.000
S, | 5,10,000 4,50,000 0
S, 1 3.00,000 3,00,000 3.00,000

Which strategy should the executive advise on the basis
of :

(1) Maximin criterion,
(11) Maximax criterion, and

(ii1) Laplace criterion. (6.9)

(7)) RS T AR ¥ 99 2007-2014 ¥ IS SR UE
faforee =t &t gf w=E woed wfifE 2 S

A9 FuEE 2007 H AUR q9 AEE Y T T
Hs A @ s wwEd (7) cp1
2007 1190 100
2008 1330 107.6
2009 1440 106.6
2010 1570 107.6
2011 1750 116.2
2012 1840 118.9
2013 1890 119.8
2014 1940 120.2
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(i) wfER @ 20072014 ¥ A e T i,
cais

(i) 2007 & qehEc 2014 ¥ TGQ I HI ARH T f
ﬁﬁwwqﬁmmwnﬁ%?

(@) e FoET faga (Statistical Decision Theory) -
Hferm Ut IO | g8 [ T (Ingredients) Gl

N REH

(3r) SF¥iE Al
(i) T - FEETEAT] 3R T - TEETEIAY

(i) e Fe R TR TS HeA
(Independent Events and Mutually Exclusive Event

(=) v @ I FEE A @S A S WA AR
¥ v e E T R A GeA I S S I
o 2 A He (Sl)m'ﬁﬂﬁmaﬁmf
A R A e A AR $ e e ¥ A
@W(Sz)maﬁﬁmﬁmﬁmmqﬁaﬁﬁ

A T A TRIR AR - & qed A hg W (SB)W@%
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i & wenig Rl € (1) o ¥ 5= afe (N)), (i)
R A HE gl A8 (N,), 3R (iii) foeht # frae (N) o
FrRE & Ry By ¥ 7@ el 3 a0 ORIl W AE

faran
T Iw T A
Tﬁﬁfﬁ Nl N2 N3
S, 7,20,000 3,00,000 1,50,000
S, 5,10,000 4,50,000 0
S, 3,00,000 3,00,000 3,00,000

i e WA W e o, Send
(i) s e
(i) oo sferemew e
(iil) << (Laplace)-ﬁﬁq
. (a) An organization is faced with the problem of choosing
one of the three products for manufacturing. The

potential demand for each product may turn out to be
good, fair or poor. The probabilities for each type of

demand were estimated as follows;



18
Product Type of Demand ﬁ
Good Fair ;0\0;\
A 0.75 0.15 0.10
B 0.60 0.30 O.F‘
c 0.50 0.30 0.20

The estimated profit or

in respect of each product is given as;

oss for three states of dema

Product Rs. Rs. Rs.
A 35,000 15,000 5,000
B 50,000 20,000 | (3,000) loss:
[ ¢ 60,000 | 30,000 20,000

pPrepare the expected value tab

le and advise th

managemen: about the choice of the product.

(b) For a bivariate data, you are given the following:

S(X-58) =46,

2(Y—-58

) =9,

S(X-58)2 = 3080]

S(Y-58)2 = 483, $(X 58) (Y-58) = 1095

[f the M JO N . :
the numbers of pair of observations are 7, determil

tllc ch 2O .
two regression cquations. Also compute (D'l

(6,9

cocthicient of correlation.

N
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OR

(a) In a class of 75 students, 15 were considered to be
very intelligent, 45 as medium and the rest below
average. The probability that a very intelligent student
fails in a viva-voce examination is 0.03; the medium
student failing has a probability of 0.05; and the
corresponding probability for a below average student

is 0.15. If a student is known to have passed the viva-

voce examination, what is the probability that he is below
average ?

(b) From the date given below pertaining to 66 villages,
calculate thc value of coefficient of correlation between

total cultivable area and area under wheat production;

Total cultivable area (hectares)

Area under | 0-500 | 500- | 1000- | 1500- | 2000- | Total
wheat prod. 1000 1500 | 2000 2500
(hectares)

0-200 12 6 - — - 18

é \ioﬂﬂ) 2 18 4 2 1 27

o0 |- T4 7 | s | - |

-600-800 — 1 ~ 2 1 4

qL-80-1000 | - _ = 1 2 3

il Total 14 29 11 8 4 66
94

(6,9)

P.T.O.
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1

(3 TE weE ® and gwer B oS R \

%%ﬁwwmmélamﬁwqﬁm
(Good), SR (Fair) a1 @it (Poor) B &t 3

R
I AT HT YhR ]
o . _—
A 0.75 0.15 0.10
B 0.60 0.30 0.10
C 0.50 0.30 0.20 °

Wﬁawmmﬁmﬁaﬁﬁﬁwﬁﬁ%ﬁ%%

W
| I 4 3 | 3
A 35,000 15,000 5,000
B 50,000 20,000 (3,000) loss
C 60,000 30,600 20,000

TR W AR TR 3R I @ T W b e
3
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vs f8=R (Bivariate) 3w & R, st Fraffas T
UG ST

2(X-58) =46, X(Y-58)=9, X(X-58)2=3086,
S(Y-58)2 = 483, X(X-58) (Y-58)=1095

afe FEchd WEl W WO 7§ A A GHHA wEE
FeiRe IR 1 oo & weermrw e @ S e
I |

AT

75 Trent¥ar =it wen ¥, 15 wga gfeww A, 45 wuw wR D
T AT AT ® A ¥ W B v gl Rl
Aew T8 ¥ Bl B o I T 003, W wR & e
& el B &I GWEET 005 W IR MEw @ A B fad
T el B S 9T 0.15 N | afe ue faRmed AiRaw wden
¥ B R R g A we R
T AN B W B FE A

66 A T Y ¥ HW S AN 8 W A F I
& W wEgeEey UM A0 T |

P.T.O.
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561
HA W &F (FFTE)

3% 3= | 0500 | 500- | 1000- | 1500- | 2000- | Fw

& I 8= 1000 | 1500 | 2000 | 2500

(FRTH)

0-200 12 6 | - _ I
200-400 ) 18 | 4 2 I gz
400-600 _ 4 " E - s
600-800 _ 1 - 2 Lo 4
300-1000 _ - - 1 2 | 3
e @ | 29 | 1 3 4 66
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4
1. (a) Why is there no market supply curve under congy;
101y

of monopoly ? /

(b) How do you measure the degree of monopoly ¢ Whag |
the rule of thumb pricing ? Explain Learner’s meqg,
of monopoly power. (7,7

OR

(a) What is first degree price discrimination ? Explain hy
practicing this kind of discrimination can be advantageo

to a firm.

(b) What is peak load pricing ? How can a public utili
company producing electricity be better off by followii’

a policy of peak load pricing than one of uniform pricing/

(Visually and hearing impaired candidate can skip tl

diagram) (8,
(&) vt ot emal ¥ wor @R 2 BF RIS SR e @
el B 7

(@) vafosm & R B s Y AN 7 sEpEiE w

FEfer == B R 7 vl wie 9 R W A I
T |
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e - i A 1 s e

(TET &7 F SR v 9 el 57w @ D am
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(a) Explain the contestable market theory ?

(b) In duopo.ists market, two firms can produce at a constant
average and marginal cost ¢f AC=MC=5. They face a
market demand curve given by P=53-Q. In cournot’s
model if they are profit maximizing firms. Find two
reaction functions and calculate cournot’s equilibrium.
What is the profit of each firm ? Suppose two firms
form cartel to maximize joints profits then calculate the

profit and quantity of each firm. (5,10)

OR

(a) What is price leadership? Explain the model of a

dominant price leader.

P.T.O.
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(b)

. 4

/0
-l
[ 4

Duopolists face the following market demang
P=14-Q (where Q=Q, +Q, is total prody -Qur\‘".,

1 Cthn (/:-
both firms) at MC, =MC,=2. Calculate Courpg

equilibrium with help of reaction curves. (7%

() Farg amw figa A A FT |

(@) gerfsR R ¥ 2 wF IR Ed AR AC=MC=53

S OEE R I o g@dl & | 3R P=53-Q%
Ry T AR WA 9 A N T 2, FiAC W
ﬁuﬁ%wamﬁwﬁﬁﬁlaaﬁmmaﬁﬁ
Wﬁﬁa@?wmﬁ'ﬁﬁqlmmﬂ
%amwifan%?wm@ﬁm%éﬁwma_

Wwﬁa}maﬂé‘awaﬁ%a’rmmﬁ%w
st WET T ARee T |

JrIdar

maﬁwzﬁmé?wﬁaﬁwﬁw%ﬁmﬁw
o |

Reframafa # MC, =MC,=2 W Frfifad T
T P=14-Q (P Q=Q,+Q, Tl IeweH M
HT B, T GRET HAT Y& 2 | SRR T & we &
I T UReherT HMfoTT |
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(a) How can W

5

e distinguish between risk lovers and
risk averters ? With the help of total utility of money
curve, explain that marginal utility of money will

diminish for risk averters and will increase for risk

lover.

(b) Suppose an investment A entitles an investor perpetual

income stream of Rs. 1000 per annum, it cost him
Rs. 10000 now. Another investment B costs him
Rs. 3500 now and entitles him to income stream
of Rs. 1100 after one year, Rs.2420 after two
years and Rs. 1331 after three years. Which of
these two would you advise him to go for?
Assume that the rate of interest is 10% per annum for

the period. (7%,7%)

OR

(a) What is the meaning of diminishing, constant

and increasing marginal utility of money ? Show with
help of total utility of money curve and explain what

are
(1) Risk loving person,
(i) Risk neutral person and
(iii) Risk Averse Person

P.T.O.
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(b) An individual is considering two investments Projeesy ‘
Projects A will return a loss of Rs. 5 if conditigp, a/

poor, a profit of Rs. 35 if conditions are good and |
}
will return a loss of Rs. 15 if conditions are poor

profit of Rs. 95 if conditions are excellent. Project |

profit of Rs. 45 if conditions are good and a profit

Rs. 135 if conditions are excellent. The probabilj
distributiofn of conditions are as foltows

Conditions Poor Goed Excelleﬁ
Probability 40% 50% 10% \

|

(i) Calculate the expected value of each project an

identify the preferred project according to thi
criterion. r

f

(i) Calculate the standard deviation of the expectel

value of each project and identify the projec
with the highest risk.

(iii) Which of the two project should a risk-avers
individual prefer ? (7Y%, 7%

() S T sfe e Ry Ot ¥ omg 93 Ve TG 7 H
Wﬁ@%ﬁm%waﬂﬁq%gﬂaﬁw

ST SR Rrehr aet @ Rrg we e s i @
& R we s |
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() WW%%.‘A’%WﬁMOO T Ufd 99§ AR
3T AT Bl € Siich 39l oG 39 3 10000 ® ? | U
IR FEw ‘B’ & 9N 3/ 3500 T I B 3R I TF a9
e 1100 T F T O A, I qY qE 2420 T I G 99
T 1331 T I H URT A T I Eh BT B | T ARl
¥ AT frER A W I werw P A A B oo
R & Qg = @ ) 0% wy ag 2 7 |

AT

(F) 9T A T, =R AR G GRa ST 6 o 31T
g ? qET O N el ITANET AT ¥ WeRia HIvw i
IRAT Hifolg for & a2

() e o =
(i) <iRew Aoy =t
(i) e Frer awen e

(@) v =fe @ Fag TRASHISY W BRR R @1 8 | RS
‘A’ ¥ 5T o wy W e AR T W g, 35T
T T 2R g emd sst B Sk 95 ® T AT A
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IR 135 ©
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]
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& 7] e
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- 40% 50% 10%

() v A R g e
i @ Py B SER SR S S
T |

(ii) mwﬁ&mémﬁm‘ﬁ%mm!
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TEHI |

(i) ﬁamﬁﬁ%ﬁ%_ﬁ,sﬁ@ﬁﬁ“
i FAfemmgar e ?

4. (a) How is the wage rate determined for labour, when labot
is one of the several variable factors and given
there is monopoly in the product market and perfe

competition in the factor market ?
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(b) For a monopsonist, what is the relationship between the
supply curve of labour and marginal wage curve? Show
how equilibrium wage rate and employment are

determined. (7%,7%)

OR
(a) Write short notes on following ;

() Marginal Revenue Product (MRP)
(i) Value of Marginal Product (VMP)

(iii) Quasi Rent

(b) Explain economic rent. Explain with suitable diagrams

and examples what happens when :
(i) Supply is perfectly elastic
(ii) Supp.ly is perfectly inelastic
(iii) Supply is elastic (7%,7%)
() T A R T weER FrofRa @ W 2 e R

TR wRA ¥ ¥ v 2 IR Rar @ ¥ B IR IR A
VAIUR i e ootk & o el 2

P.T.0.
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(@) wﬂfﬁm%ﬁvw%mwmmww
% & 71wy 8 7 Wefd Fe i e wR dge
R A AR & i fwar g e

reqar

(&) Frfofad ® G fewfomar fofag :
(i) < aoE S (MRP)

(i) @we Se@ & A (VMP).

(iii) FTHE A
. ) b (:
) s oy @ e A | ST SRE S ST

2 Wy reEn S B F e § e
(i) wa@aﬁ&%ﬁﬁﬁé

(i) wwrE i SR 2

(ii) wwrd HeER

: . worb
5. (a) Show competitive equilibrium with help of the Edge

Box diagram.

. . " : . OI\"
(b) What is the market signaling ? How can it used t0

the problem of adverse selection resulting fT

asymmetric information ?
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N (Alternative question for visually / hearing impaired
| candidate only) :
™
Explain the concept of Price Signalling and Price
Leadership in Oligopoly. (7°2,7%)
OR

(a) What are public goods ? Explain the Free Rider problem

associated with such goods.

(b) Define Production Possibility Curve. How can it be
derived from the production contract curve ? What does

its slope indicate ? (7%2,772)

(%) voEd dfe| M@ d AeT ¥ WoRAEl qged @ WeRi|

§ (@) SR dhad o7 B B 7 SEART GO o URUeEaEd
| w3 ek w0 @ E w ¥ T B A ¥ e W

Hhar 8 7

(oot =neEiia Ioa IR QU IOT B & Q)
FEIRR H AW Fehe IR THd Aged ol Gehodwl
W T N |

P.T.O.
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l.

(a) Explain the provisio
Act,
premium.

(b) The following is the summa
Ltd. as at 31st March, 2016:

80

\

/

ns of Section 52 of The Cop
B

7013 with regard to utilisation of seqy -
i

rised Balance Sheet;

EQUITY AND LIABILITIES
Paid up Share Capital:
50,000 Equity Shares of Rs. 10 5,000
each fully paid up -
1,000, 10% Redeemable 1,00,000
Preference Shares of Rs. 100 ,‘-‘
each fully called up
4
Less: Calls in Arrears 1,000 99,
@ Rs. 20 each
//
Securities Premium 20, ‘
/ .
Balance in Statement of Profit and Loss 60
._.—-/ [
General Reserve '70’(‘
Creditors 1,51,f
____—-/C
9,002
=
II. ASSETS |
___—-/
Non-current assets 5,00,
Current assets (including Cash at ] 4’00,0% |
Bank Rs. 90,000)
___—/
(0
9,00,
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The redeemable preference shares were redeemed on the

following basis:

|. Of the 50 preference shares, holders of 40 shares paid
the call money before the date of redemption. The
balance 10 shares were forfeited for non-payment of calls
before redemption. The forfeited shares were reissued
as fully paid up on receipt of Rs. 500 before redemption.

2. Further 4,500 equity shares were issued at a premium of
10% and 2,000. 9%. Debentures of Rs. 10 each were

issued at a discount of 10%.
, 3. Expenses for fresh issue of shares Rs. 5,000.

4. Preference shares were redeemed at a premium of 10%
and securities premium account was utilised for this

purpose.
5. Holders of 100 preference shares were not traceable.

Show journal entries including those relating to cash.

(5+10=15)

OR
(a)

Discuss provisions regarding issue of bonus shares as
®humerated under the Companies Act, 2013.

(b .
(b) The following balances appeared in the books of the
“Ompany on gt April, 2015:

P.T.O.
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(Represented by 10% Rs. 3,60,000 secured Bonds,

Government of India)

On 30th April 2015, the company purchased. 10% sectt |

bonds of Government of India for Rs. 60,000 at par.

Annual Contribution to Redemption Fund was Rs. 640
made on 31st March each year. On 31st March, 20
balance at bank was Rs. 2,00,000 after receipt of intert
The company sold thc investments at 80% and debent
were paid off. You are required to prepare the follow!
accounts for the year ended 315t March. 2016:

(i) Debentures Account

(if) Debentures Redemption Fund Account

(iii) Debenture Redemption Fund Tnvestment Account’
(iv) Bank Account (5+10’l

(® )mmﬁmzom%mszﬁuﬁaﬁﬁﬁwﬁw
A& T e e SR

1863 4
Y
Wi
)
12% Debentures 4,00 i
Debenture Redemption Fund 3,00,
Debentures Redemption Fund Investment 3,00,

/MIO,T‘NI

P 1 7]

/

(H)Xﬁrﬁégwslmﬁzméwwaﬁﬁwﬁﬁﬁﬁ\

2



3 S
/ O

[ $REd SR <Fa T
7 W fl;?ﬁ

qof o 10 ® aer 50,000 IS AW 5,00,000
o e AW W 9 100 ¥ A 1,00,000

10% ufeRa EE 1000 AW

¥ ;20 € U IW F R W 1,000 99,000
qEET AR H /AT

giostfa T 20,000
N 3R B B FUT A AW - 60,000
aw Rea 70,000
AerRaf 1,51,000

9,00,000

I aRegfat

AR e uReatEr 5,00,000
e uRgufat (S F Ahs 4,00,000

90,000 % fHemet)

9,00,000

\\ ———————————

P.T.O.
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afia S R F R TR R SR fy

1 50 SR WA A W, 4oﬂwﬁﬁf%9ﬁamﬁaraaw
s i s AR A MAT 10 AR A IR ¥ v
& SERAl T ERA WO H forn T A we R awy
F e ¥ Y8 500 T qUled €9 A T FW I W
e wam ‘

2. FW 4,500 SEEE IR 10% REET W 3R 2,000, 9% |
=R F 10 © UT B Baw ¥ 10% dc¢ W AW

T il

f

3 IR @ AT R W 5,000 € @9 EYI

4. R A T 10% S W URER X R @ o
gfeey SR o @ 3@ IS¢ ¥ IwnT o forr T

5. 100 SMME AR F uwE) w1 g T8 g« g g I
wefm TRfedl @ Wi F@ e Rt et @l

Al

(E)afﬁaﬁﬁrﬁuwzmé%amﬁawmmﬁaﬁwﬁﬂ
fofa A daftm smenst & R AR

(@) o & @@ ¥ 1 oadw 2015 B FerRE 3w 3@ T




7
| %
12% TR 4,00,000
RY=R e fAfer 3,00,000
R=R gfde™ fafr & fAew 3,00,000

(wRe WHR ¥ 3,60,000 T & ulaeE wie & 10% W

gfffea S B)
30 sieT 2015 T FEX A 60,000 T F T TS TAK
3 10% gReE se w @ o

qfier Ffr ¥ @iffie awEr, 64,000 & T 3] A @ R A
far w@n 31 9™ 2016 aﬁmmf@r%aﬁé’ﬁﬁw

2,00,000 ® 3 FOR T Fam A SO%W‘éaﬁmaﬁtﬁaﬁﬁ
1 a1 ¢ feam amaﬁsmﬁzowaﬁmgﬁa@aﬁ%

Ry Frfifad o 99K & 2

(i) Ra=R < |

(ii) R wftem Ffer <@
(iii)ﬁamgﬁmﬁfaﬁamawaﬂr
(iv) S o

ce of ABC Ltd.,

. From the under mentioned Trial Balan
r the year ended

§repare a Profit and loss Statement fo
. March. 2016 and the Balance Sheet on that date:
p.T.O.
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(8
)

: Jances Rs. | Credit balances =
Debit balan ‘_\R
Opening Stock 3,00,000 | Equity share capita] 10,00,0@

¥ (10,000 shares of
Rs. 100 each)
—
0 t |
Purchases 6,09,000 | 5% Debentures 2,50,0i
Discount 15,000 [ Creditors 80,0
Fuel 25,700 | Bank overdraft 1,20,
Building 7,00,000 | Discount 23,0:
Carriage Inward 11,750 | Return outward 1,0
Sundry Debtors 2,00,000 7
Goodwill ' 1,30,000 B
Short-term 1,50,000
Investments |
Plant and 2,50,000
Machinery ’
Loose Tools 60,000 o
General Expenses 1,74,000 )
Bad Debts 10,300 L
Debenture Interest 6,250
(half year upto
30-09-2015) .
Cash At Bank 1,30,000
B
33,24,000 33,24,01
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Additional information: (
(i) The authorised capital of the company is Rs. 20,00,000. |
(i) Stock on 31.3.2016 was Rs. 3,50,000. 2
(iii) Depreciate Plant And Machinery by 20% and revalue 1°

loose tools at Rs. 41,000. 7

j (iv) Proyide 2%, as bad debt reserve. ]

- (v) Final dividend 15% and transfer of Rs. 11,644 to General ’

; Reserve was proposed by the Board of Directors.

(vi) Rate of income tax is 30%. q
(vii) Corporate dividend tax to be charged at 20.358%. A
(15) 4

i

OR

(a) For the year ended 31st March, 2016, the profit of A
Ltd. before tax amounted to Rs.7,20,000. There was a

credit balance of Rs. 4,10,000 brought forward from the

r Previous year. The paid up capital of the company

Consisted of 30,000, 6% Preference shares of Rs 100

P.T.O.
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1 '\56

\

each and 4,00,000 equity shares of Rs. 10 each, I
n
dividend on equity shares was paid during . ai/

4

O\

7.5%. The following appropriations were passeq ay

annual general meeting of the company:

. To pay dividend on preference shares.

2. To pay a final dividend of 5% on equity sk,

capital.
3. To provide for taxation Rs.2,00,000.

4. To transfer 2.5% of current year’s profits to Geni|

Reserve.

5. To provide for corporate dividend tax at 20.35§

Write up the “Reserves and surplus” to be sho'

in notes to accounts.

(b) Explain the intrinsic value method of valuation of equ'

shares with example.

(¢) The Balance Sheet of X Ltd. is as follows:
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particulars Rs. Rs.
LEQUITY AND LIABILITIES:
{ shareholder’s funds:
| Equity Share Capital 1,00,000
| (10,000 Shares of Rs. 10 each)
| 8% Preference Share Capital 50,000
(5000 shares of Rs. 10 each)
@ Reserves and Surplus 90,000 | 2,40,000
| Non-current Liabilities
8% Debentures 50,000
| Current liabilities
¢ Trade Payables 25,000
n Short Term Provision: 10,000
Provision for taxation
5 Total 3,25,000
II. ASSETS:
10 'NOn-Current Assets
Fixed Assets 1,80,000
10,000
i Investments (5% Tax Free 20,000
GOVernmént loan)
Current Assets
Trade Receivableg 1,00,000
ther Current Assets: 15,000
Share Issye Expenses
Total 3,25,000

P.T.O.
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Current year’s profit of the company (after dedyy, |
n debentures and taxes) is Rs. 31,00( Ti P
market value of the machinery included in fixed o, /‘1
is Rs. 5,000 more. Expected rate of return is | | +

Compute the value of goodwill of the company y -

interest O

12

years’ purchase of super profits.

ABCﬁrﬁ%E%#r%ﬁﬁmmﬁmﬁzmbaﬁms

a&%ﬁqmaﬂtgﬁwmaﬁml

o

/

(5+5+5%1 |
f

1,50,000

.
e Iw T, | #fee 9w B
INE ©E 300,000 | SRmdl IR o 10,00,001 |
(10,000 ® e 100 7~
IR) ]
& 2)50)00[
@eRat 6,09,000 | 5% =R {
< 8,50100[
iRk 5,52,000 | faat 1 I
it 80,00
e 15,000 | w=eIRAl (
i ' 120,00 !
25,700 | d 3NawETERe 20,
0 g 12000
o 2300
7'00;0 ™~
00 | WeeT
_ e 1,750 | a9@ SEE 1,00 |
—_— T 2’00,000 ) 1
T -
1,30,000 \
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g @ 2,50,000

- AR 60,000
-

g @ 1,74,000
A

gatem RO 10,300
i

RyFX AN 6,250

(amen @

30-9-2015 o)

% ¥ Uwe 1,30,000

33,24,000 33,24,000

Ffaftaa g
(i) w0 = sfirea dom 20,00,000 & B
(i) 31.03.2016 = &iH 3,50,000 & 1 I

(iii) W qor TR R 20% ¥ AHECE FR IR YIH S
THFET 41,000 ® R

(iv) s o Red @ R w7 § 2% & == ATl

(v) sfm et 159 sk e Wewr ¥ @mEa Rad A 11,644
T T FR W g @

Vi) s W 30%

P.T.O.
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1,00,000

50,000

90,000

2,40,000

50,000

25,000

10,000

3,25,000

1,80,000

10,000

20,000

1,00,000

15,000

3,25,000

P.T.O.
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) 310006%nw@uﬁmﬁa‘rﬁmﬁam_ﬂw
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3. A Ltd. agreed to acquire the business of B Ltd. as on 315t My,
2016. The Balance Sheet of B Ltd. as on that date was as ung,

—

EQUITY AND LIABILITIES RS-E
Authorised, Issued and Subscribed Capital j
10,000, 12% Preference Shares of Rs. 10 l,O0,00TJ?
each fully paid up
20,000 Equity shares of Rs. 10 each fully paid up 2,00,00(f
General Reserve 20,(&0
Profit and Loss Account 30,000
11% Debentures 1,00,000
Sundry Creditors 1,50,000
6,00,000
Aj
ASSETS |
I
Land and buildings 2,00.000
Machinery 1,00,000
Stock ZM
Sundry Debtors ,_S.E)-O/OU
Cash and Bank Balances ___3_20/00\
Preliminary expenses ‘w
Debenture Discount :______5_’,0/0/3
50000
) N
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The consideration payable by A Ltd. was agreed as under:

(i) The preference shareholders of B Ltd. were to be allotted
14% preference shares of Rs. 1,10,000.

(ii) Equity shareholders to be allotted six equity shares of
Rs. 10 each issued at a premium of 10% and Rs. 3 cash

against every five shares held.

(iii)1 1% debenture holders of B Ltd. to be paid at 8%
premium by issue of 12% Debentures at 10% discount.

While arriving at the purchase consideration, A Ltd. valued
land and buildings at Rs. 2,50,000; stock at Rs. 2,20,000;
and debtors at their book value. subject to an allowance of
Rs. 2,000 to cover doubtful debts. Debtors of B Ltd., include
Rs. 10,000 due from A Ltd. The machinery was valued at

! book value.

It was agreed that before acquisition. B Ltd. will pay a
dividend of 10% on equity shares (preference dividend
having been paid already). Ignore corporate dividend tax
and dividend bank account. Liquidatioﬁ expenses amounted
to Rs. 5,000 and were borne by A Ltd.

Draft journal entries to close the books of B Ltd. and prepare

Realisation Account and Equity Shareholders Account. Also

give opening entries in the books of A Ltd. (15)
OR

F°“0Wing is the Balance Sheet of X Ltd. as on 31°* March,
2016,

P.T.O.
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|
. t \
Equity and Liabilities Rs. | Assets Ry
. —\
5.000, 7% Cumulative | 5,00,000 | Goodwill 75,001
- T
Preference Shares of Patents 50,00¢
Rs. 100 each
1,00,000 Equity Shares| 10,00,000 | Land and buildings 6,00,001
of Rs. 10 each
. i
7% Debentures of 5,00,000 | Plant and machinery 5,50,000
Rs. 100 each (secured Investments (at cost) 60,000
on land and building) L
Interest payable to 17,500 | Stock 4,30,000,
debenture holders |
Loan from directors 1,00,000 | Debtors 4,00,000
(considered good)
4
Creditors 4,00,000 | Debtors 30,000
(considered doubtful) )
Bank overdraft 2,50,000 | Cash 2,500
_
Prelimi 80,00"
iminary expenses R
Profit and loss account 4,90’000
__.—-/
27,67,500

0
27,67,50 J
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Contingent Liabilities:

{. Claims for damages pending in the court totalling Rs.

50,000

7. Arrears of preference dividend Rs. 14,000

The following scheme of reconstruction has been agreed

upon and duly approved by the Court:

-(a) The Preference Shares were to be reduced to an equal

number of fully paid Preference Shares of Rs. 80 each
and Equity Shares to an equal number of fully paid

Equity Shares of Rs. 2.50 each.

(b) All intangible assets to be written off.

(c) Stock to be revalued at Rs. 3,380,000 and Debtors

considered doubtful to be written off.

(d) Preference shareholders agreed to waive half of the
arrears of dividends and to receive Equity Shares in lieu

of the balance.

(¢) Debenture holders agreed to take over part of the security
of the book value of Rs. 1,80,000 for Rs. 2,50,000 in
satisfaction of part of their claim and were issued fresh
7% debentures (with floating charge on all assets) in
lieu of interest payable to them and payment of
additional cash of Rs. 1,50,000.

P.T.O.
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./
(f) The contingent liability for claims for damages pende
in the court of law materialised to the full exte, /d
However, the company could recover Rs. 40,000 frol: B
those who were responsible for such damages and settle: i
the rest by issuing Equity Shares. F
(g) The directors agreed to convert the loan into Equiaj 1
Shares. | /?
Journalise the transactions and preparc Capity |
Reorganisation Account (1:'? | fa
3. A%@E%B%ﬁﬁ%waﬁalﬂﬁzowﬁwﬁq
O | gy 9 39 T 9@ &1 B faffids &1 gEw W R |
TR A 7 T
10,000, 12% M@ AW 10 & 9 qoied | 1,00,000 A
20,000, & T 10 T A e 2,00,000 (i)
g Rae 20,000 |
e
i)
™ AR B o 30,000 |
11% Ra=w | ] w |
fafaer cerial 1,50,000  li

)y N
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6,00,000
ﬁ . ﬁ 4
CIGACRINEE] 2,00,000
CEIETY 1,00,000
wieh 2,00,000
fafger IeRar 50,000
Iwe quT 9 A AW 35,000
’
TR @ 10,000
155 b s ol 5,000
s/
6,00,000

N

A fifits g W 9 gfiwd T ISR I

N ==

T

IR FrEfed frg o= 2

N == \

T

J‘al

T N\

(i) Bfefiee = eqfim:rﬁuzwf%&r T 170,000 & & 14% oA

(ii) $Rrad) aeenfdl H 10% QfTw | 10 T 9 ST ST WK
AR fhT W A 3k TlE 9 AW W 3 T ARE [HY A

(i) BRfRs & 119 RY=r wiRal A 10% Fe& W 12% R¥=

YL"

S wE 8% Rfigw far weT A
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3.

ﬁﬁqaﬁ?aﬁﬁwawéﬁaﬁﬁmuﬁﬁf?ﬂaﬁ

o B AR & @ ¥ v gk #w

o o @ fog weARr @ B SO ¥ T B ffics &
Sl R @ e R S A A T A 7 Gy

Jrerdl |
faiad &
X fofide =1 31 WRT 2016 deh &1 ToA9A s
; | 75,00
5000, 7% 9=l 5,00,000 | g9
. ,00
e IR 9T 5
100 & 4
6 00,009
1,00,000 St 10,00,000 [ ft @M wWaT '
IR 10 & 4 L
il
100 % @l 7% 5,00,000 | & 99 HIAA 5,500
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i
R (R AR R (s w) 60,000
.
w| W W TRAE)
lui—fm L) %-q 17,500 | @1 4,30,000
% o
Ty
T ¥ o 1,00,000 | ¥Rz 4,00,000
S (331 AP )
yp
74 oA 4,00,000 | ¥TerRaf 30,000
7 (8w = )
77 I AW g 2,50,000 | Az 2,500
ol .
| TRNE & 80,000
Ul —
| A R T e 4,90,000
27,67,500 27,67,500
1
~ e Y

| | P.T.O.
;
X
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|

o

Wmﬂ@rwwmﬁaoaw%
ST

e e ¥ e g S IR e
3 o50 T A T T A TR K T |
e g TREdrE W G EW S W

£

< @ 3,80,000 € ¥ TACATHT AT ST St ey

) g AFEK 9c¢ @A I STl C

SR e TR A S S SRR R s fg,
I w ey @ 2 ok AW A vaEw A e qR

P
FTR B W B E

RAmRa O 9 W e adfie & ¥ A 1,80,00 | T
A T AR A 2,50,000 & X o B AT
e 38 T 7% R 3 3 s o v F
fy M (@sf TReTREl W seqd TR & @)
1,50,000 & JfRew wee wflr & wE

SRRIE Qe S S S i
wgﬁm%sﬁﬁaﬁwwﬁmwmﬁﬁﬂ
%40,0006.aagmq1§shgqaﬁ&f%ﬁqu
AR A Prew SR e W@ w far T
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(®) fRae | H S W F Fee B ol wEww B oy
T AT W T A gfafe g i I qeetaen o
TR Sl

The following are the Balance Sheets of H Ltd. and S Ltd.
as on 31st March, 2016:

H Ltd. (Rs.) | S Ltd. (Rs.)

EQUITY AND LIABILITIES:

Equity share capital 8,00,000 2,00,000
(fully paid shares of Rs. 10 each)

r General reserve (as on 1-4-2015) 2,00,000 2,00,000
Surplus 40,000 4,00,000
Trade Creditors 1,60,000 80,000
Total 12,00,000 8,80,000

| ASSETS Rs. Rs.

| Fixed Assets: Tangible 4,00,000 2,00,000
Investments in Equity shares 4.00,000 -
of § Ltd,

e ——

| Stock in trade 2,00,000 1,80,000

Mables 1.20.000 4.00.000

Cash at Ban
\

80,000 1,00,000
Tota]
12,00,000 8,80,000
P.T.O.
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Additional Information:

(i) HLtd. had purchased shares in the subsidiary comp,
?

on January 1, 2016.

(ii) Balance of surplus of S Ltd. on 1-4-2015 w'i

Rs. 1.60.,000.

(iii) S Ltd. distributed bonus shares out of general rese|
in the ratio of one share for every two shares held}
February, 2016, but the entry for bonus issue has

been passed by it yet.
\

ounti(

There was an abnormal loss of goods by fire am

(iv)
to Rs. 30,000 on 1" October, 2015.

g bo

(v) H Ltd. held 18,000 equity shares (includin
shares) in S Ltd. as at 315t March, 2016.

Prepare consolidated Balance Sheet of H Ltd. and
Show

subsidiary S Ltd. as at 31st March, 2016.
(

workings.

OR
0 each

4. H Ltd. acquired 32,000 equity shares of Rs. I
ce Sheet’

Ltd. on 01-10-2015 for Rs. 6,00,000. The Balan

the two companies as at 31-03-2016 were as follows:

P
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WND LIABILITIES | H Ltd. (Rs)| S. Ltd. (Rs.)
s
Share Capital : 10,00,000 4,00,000
Equity shares of Rs. 10 each
fully paid up

Sl
General reserve (01-04-2015) 4,880,000 2,00,000
Profit and Loss Account 1,20,000 1,80,000
Unclaimed Dividend - 2,000
Bills Payable - 30,000
Sundry Creditors 4,00,000 88,000 |

20,00,000 9,00,000

ASSETS H. Ltd. (Rs.) | S Ltd. (Rs.)
Land and Building 4,00,000 4.40,000
Plant and Machinery 6,00,000 3,00,000
Investments (including Investmen| 8,00,000 -

_m\Equity shares of S Ltd.)

| Stock 50,000 30,000
Debtors 40,000 50,000

[ ———— .

| Bills Receivable 10,000 20,000

| Pank Balance 1,00,000 40,000
Preliminar E

\y Xpenses - 20,000

\ 20,00,000 9,00,.000

P.T.O.
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Note: Contingent liability for Bills discounted Rg. 20,004

Additional Information: | ”

(i)

(i1)

(iii)

Prepare Consolidated Balance Sheet of H Ltd. and |
subsidiary S Ltd. as at 31-03-2016. Show your working |

2

Hﬁrﬁ‘égaﬂisfﬁﬁ%géamﬁzowwawqaﬁﬂﬁ%

On 01-04-2015 the Profit and loss Account of § Ltg 1

showed a credit balance of Rs. 70,000 out of Which|

dividend of 10% was paid on 01-11-2015. The divide@/_
was credited by H Ltd. to its Profit and loss Accour%——

Ignore corporate dividend tax. {

Creditors of S Ltd. include an amount of Rs. 30,0(%*
for purchase from H Ltd. The goods are still unsold {
31-03-2016. H Ltd. sells the goods at cost plus 20%

M=

Bills Payable of S Ltd. are all issued in favour Of!t

Ltd. Of these bills, H Ltd. got discounted bills WO(J
Rs. 20,000, !

(¢

\
y,
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H fafids (=) | S fofids ()
st IR ey
@t J G 8,00,000 2,00,000
' (o & &t I & IW)
e Red (142015 =) 2,00,000 |  2,00,000
%aﬁﬁm 40,000 4,00,000
R oA 1,60,000 80,000
L‘@hs 12,00,000 8,80,000
jﬁaﬁﬁa"f T, T
I aftgufar ;- 9d 4,00,000 2,00,000
S ffice @ $frdt A ¥ PRW| 4,00,000
_jlm i 2,00,000 1,80,000
TR W g 120,000 | 4,00,000
—
j\ﬁﬂm 80,000 1,00,000
\Eﬂg; 12,00,000 8,80,000
P.T.O.
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o v
FfaRed TR

| o
(i)Hﬁrﬁ%g%1maaﬂ2016%W$ﬁ%mW%ﬁ
Oy |
(ii)Sﬁﬁ%@mmﬁwmzmsaﬁl,bo,ooo T | ‘%
1%

I
(i) s RfRs ¥ T Rod ¥ ¥ A da s Ry S o ”
2016ﬁmﬁaﬁ€rﬁuﬁmlﬁm%mﬁwﬁm'f
wg A I F IR IEr aoh T T A R li
| |
(iv)laﬁzjfzowaﬁammaﬁ%mmgﬁﬂm }F
SETeRT &f 30,000 T W g [%
(v)Hﬁfﬁ%@%WSﬁﬁ%@?ﬁﬁlsoooéﬁaﬁﬂm@hﬁ
I = FrerEe) 31 AL 2016 FH A Fﬁ“
i

H%ﬁ%@maﬁtsﬂaﬁmsﬁrﬁé@waﬁmwﬁ
31@2016%@%%]?@@&@le

A=Al

4. H Rf’T ¥ 6,00,000 & ¥ 1-10-2015 @t S ffics ca

¥ 10 © T 52,000 SREA VR AR e R A 31-3-20
w F A FHUAA w gomaa el X

1

/
|

— 7 v 7 i [ o ] = [ =

y
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_—
H fifee (g)|Sffes (v)
/ o
y |t AR <AAN
o dov 10 R ar o @ 10,00,000 4,00,000
Sl AW
y [ .
ara R (01.04.2015) 4,80,000 2,00,000

e Rl 1,20,000 1,80,000

o | e A - 2,000
g foet - 30,000
Ry SmerRar 4,00,000 88,000

\

/| g 20,00,000 9,00,000
TRl H ffits (z) |s fifite (7)
W R sa 400,000 4 40,000
qIT AT A 6,00,000 3,00,000
R (s ffiee & R=dt 8,00,000

i ——

IR ¥ R A )

AN
Ak 50,000 30,000
\E ! 40,000 50,000
lic

|| R 10,000 20,000

| A

e 1,00,000 40,000
TR Y ,

— : 20,000
ﬁg\' 20,00,000 9,00,000
P.T.O.



1863 32

A - gt ot & fow i g @ 1 o g,

(i) 142015 & S fofce & @™ 3K B F@ F 70,000 +
#ftc v femar @ 2 f@d & 1-11-2015 A 10% 7
¢ foar mr wm wnw H fofikes & o ek wif oA

&U fear T A HwUA AT T W S AR el

(ii) S fofics & o ¥ H Rt ¥ wle & fw 30,000
U wiiE #1 A 31-03-2016 FF AS @ A
fofiees w1 = omm ¥ 20% Seww ¥ T R

(ii) S Bfiee & 22 =it el 1 1 fofds & 70 3 9@ 30
T # R R H RS @ 20,000 ® e B

H fafts ik et wems o S fafee &1 31-3~°
T G T Y o) sy st A 9

i |

5. F : .
rom the particulars given below. prepare cash fl

Statem .
€nt as per AS-3 (Revised) using indirect method:



33
1863
Balance Sheets as at 31 March,..
_—
EQUITY AND LIABILITIES 2016 2015
Rs. Rs.
[ Equity Share Capital 80,000 55,000
10% preferenc Share Capital 20,000 25,000
{ General Reserve 7,600 4,000
Profit and Loss Account 2,400 2,000
15% Debentures 14,000 12,000
Creditors 22,000 24,000
| Proposed divident 8,000 10,000
Provision for taxation 8,400 6,000
1,62,400 1,38,000
ASSETS 2016 2015
Fixed Assets 80,000 82,000
| Less : Accumulated Depreciation 30,000 22,000
50,000 60,000
Stock 70,000 60,000
e —
Debtors 34,400 15,000
———
Cash 7,000 2,400
\
Prepaid expenses 1,000 600
\
—_— 1,62,400 1,38,000
P.T.O.
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*
Additional [nformation: [( y
(1) provision for tax made for the year Rs. 9,400 L0

(2) Fixed assets costing Rs. 20,000 (accumulaté "

depreciation till date of sale on them Rs. 6,000) We;
| o

sold for Rs. 10,000.

| Cap

(3) Interim dividend paid during the year Rs. 9,00i
'Proposed dividend of last year was declared and pd He

during the year. Ignore corporate dividend tax. -

15t March, 2014 p
of

(4) New debentures were issued on 3

Show your workings clearly.
Int

OR i

5. (a) Differentiate between Balance Sheet of a banking a& Iy

non banking company. L
(

(b) J Ltd. presents the following information for the ye !

ended 31st March, 2016:
l

Figures |

Rs. Lak P
Net profit before tax provision 36,0®
Dividend paid 10,20
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me tax paid

-

Book value of assets sold
Loss on sale of asset

Depreciazion debited in Profit and Loss Account

Capital grant received-amortised in

Profit and loss Account
Book value of investment sold
Profit on sale of investments

Interest income from investment credited

in Profit and loss Account

Interest expense debited in Profit and

Loss Account
Interest actually paid

Increase in working capital

(excluding cash and bank balance)
Purchase of fixed assets

Exnend: .
Penditure on construction work

24.000

10

33,318
120

3.000

12,000

13,042

67,290

22,092

41,688

P.T.O.
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Grant received for capital projects

44
—
e

| 1
Long term borrowings from bank 55/
»‘ l51
|
Provision for income tax debited in m"/
1
Profit and Loss Account =
| T
Cash and bank balance on 1-4-2015 6L_
LT
Cash and bank balance on 31-3-2016 8k
You are required to prepare a Cash Flow Statement asf—
AS-3 (Revised). (5+10=N
Y
e~
R T R A e i @i e As3 (T
T IR VFT yaE FuT Jaw Ffre |
S~
31 M ..q w1 qom a ¥
™N
S T 2016 201:@
{3
T, | X
N\
s I ) 55,000
k & 80,000 ' ,\‘3
10% < ol
o SR e g 20,000 250 L
\ :
7,600 ’
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¥ 3R B 2,400 2,000
(5% TR 14,000 12,000
Fgmﬁq% 22,000 24,000
R LIE 8,000 10,000
UM & oy e 8,400 6,000
1,62,400 | 1,38,000
TRl 2016 ® 2015 ¥
= wReaET 80,000 82,000
TN . R qousdd 30,000 22,000
50,000 60,000
®ie 70,000 60,000
e ——
EEito 34,400 15,000
'\
T 7,000 2,400
\
@ 1,000 600
— 1,62,400 | 1,38,000
P.T.O.




1863 40 |

oyt aRETEl # EdE

feffr & | @
{ﬁwﬂwﬁaﬁwﬁ%mmm
¥F ¥ ddew & R SUR

¥ X & B @ T e @t
a3k B o ¥ e W e w R

I IR FF A W 1-4-2015 FH

Jwe AR ¥F ¥ AW 31-03-2016 A




ryis question Paper contains 10 printed pages |

| Your Roll No.........
1. No. of Question Paper : 1864 GC-4

sique Paper Code . 22411202

M;me of the Paper . Corporate Laws

yme of the Course : B.Com (H)
Symester I

iration : 3 Hours Maximum Marks : 75
b

structions for Candidates:

Write your Roll No. on the top immediately on receipt of

\ this question paper.
(

. Attempt ALL questions.

bl

All questions carry equal marks.

i Answers may be written either in English or in Hindi; but
the same medium should be used throughout the paper.

A B fore e
TRT-7 B e & S R g PR SR WS SR
g |
WW%WWl
WW%WW%l
- T e s B e v s R, S A

WWWwﬁmml -



1864 2

1.

(a) ‘The fundamental attribute of corporate persop,

Explain the statement citing relevant case laws

(b) Discuss the statutory provisions regarding ‘reductj,,

. e lity "4
that company is a legal entity distinct from its memby K4
&

share capital’. | o

(¢) With a view to issue shares to the general pub],

shelf prospectus containing some false information l'fﬁ
5 4

issued by the company. Mr. X a high net worth inve l‘

received a copy of the prospectus but did not apply

?.

any shares. The allotment of shares was completed 17

the company, A few months later Mr. X bought |
shares of this company from the open market at a hi
price. Subsequently, the price of the shares fell
Mr. X sold these shares at a heavy loss. Mr. X fil
case against the company claiming damages for thel
suffered on the ground that the prospectus issued by
company contained a false statement. Referring 10

provisions of the Companies Act, examine whe

Mr. X's claim is justified.

OR

(a) What do you mean by lifting of the corporate Vo

Explain the circumstances when the corpo

Company may be lifted under the order of the cour®}

h
(b) Describe the essential steps to be taken for! ]

incorporation of a company.

rate Veil .

o
ek
it
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(c) The Articles of a company stated that Mr. A will be the

financial advisor of the company. The company in its
general meeting passed a resolution to appoint Mr. B in
place of Mr. A as the financial advisor of the company
by altering the Articles of Association of the company.

Explain with reasons whether the company can do so.

(5)

(@) ‘T F fdE W T wew % 2 AT v
s THE T o SUR WeEll ¥ YAF BN7 WA hd WA
& JqYF IR §¢ T AT hl A Fiforel

(@) ﬁmiﬁaﬁmﬁ%aﬁhﬁaﬁ%wﬁaﬁﬁ%ﬂmaﬁml

() TP R @ T IR A W R IR ¥ EwE A
S A IS Aol Ao TFed W oo e e
X&®, o & I e oF @0 e 2, Ided @t i
R o 2 WY S R A @ forg smaew e R e
B AW W EeT W HE W W fRAr wEm 5w wE 9%
BReX X3 38 =t & 1000 JW S @ W G TR &
T ool W ¥ IR A T S fwr X Wl
BN SoeR 3 A @ A Ran R X ¥ s @ fee
T T Rar R @ MR W E B P e o off @
AT RN wwh gw o e Ty Oieed ¥ e e R
TR T s ¥ @ T saest @ wes 3 §¢ Wi
T F R wEr o fr X W @R 2w @

P.T.O.
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AAT L

\a)mﬁmﬁw&%mwaﬂr Fu 27 39
5 e SR T FT F1 AT AR AR F -

IEE o1 S®ar 27

«\ﬂ(

i
) = R P @ R SoT W A SR R @y

ml f(vmpl

(n)fﬁ%a“aﬁﬁﬁfif:zaﬁa%ﬁ?ﬁw(Aﬂw ok
TAEER BN T ¥ fwr A e fwx BE Ry @i
3 P TuR YoF X UF GHed TE FE AR B
FARFR ¥ qRadT =@ IX I A AT FARDR T

mﬁm%%ﬁﬁw%ﬁmm%f:m

2. (a) Define a private company and state the provisions u @}M
the Companies Act, 2013 for the conversion of a pr¥
company into a public company.

b
(b) Define a Government Company. State special provi¥
of the Companies Act relating to Governff y

]\
N
v
N
&

Companies. (ﬁ), |

’ )

(c) Write a note on ‘Shelf Prospectus’. b
m\

OR LN




(@) Define Producer Company and ex

plain the objects for
| which Producer Company is formed, (5)

' (b) ‘A promoter remains liable for

pre incorporation
contracts’. Critically €Xamine the §

tatement. (5)
E (c) Explain different kinds of resolu

general meeting of the shareholder
examples for each.

tions passeq at the
S, citing appropriate

(5)
T B A
?ﬁﬁ'mﬁ%mm Hefaw 2013 = At & w8

”(a)ms%za?‘q'—‘ﬁaﬁwﬁswwaﬂ??rﬁz

F;.

I S N —
WU N e W E R
i
(’T)Wnﬁ’&fﬁmaﬁﬁmﬁa m%@ml
T e 3 fore g IR AW IYT T L
P.T.O.
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(a) A company has its registered office at Mumbpy; 0 (ﬁ)z
state of Maharashtra. For better adminiStratih
v

convenience, the company wants to shift its offigg (ﬂ)
Pune in the state of Maharashtra. What formalitiegt

company has to comply with for shifting its regis,

office? (

(b) Differentiate between the right shares and bonus sha (ﬁ) |

( q

(c) Can a retiring director be reappointed ? Explain|
provisions of the Companies Act in this regard. | {M
OR i

(a) What do you mean by ‘buy back of securities’ 7 Explakmw‘
ardi

the provisions of the Company's Act, 2013 reg

'buy back of securities'.

(b) What do you mean by transmission of shares &
distinguish between the transfer and transmission

shares.

ibill

(

(c) Write a note on Corporate Social Respons

Committee. |
4

(F) v wOR THEE e weNE e A 49s F 2
s g gRe 3 e o o @ T 1
%Wwﬁwmferﬁamwﬁﬁ%lﬁﬁmﬁmj
AART O B R W W e stk 9@ wet ) )

]

27 (

Q)\



1864 7
| (@) T W IR I IW A SR e

() T AT B A e A g @ o 8
mmﬁmmﬁwaﬁaﬁwaﬁm|

JAAT

; (a)‘gﬁﬁﬁﬁﬁmam’%mww%%'?vﬁﬁﬁﬁfaﬁ
maﬁa%a‘aﬁa‘qﬁﬁa&ﬁwzmsﬁmﬁﬁ
Eic G el

(a)ﬁuﬁ%m%mwmﬁ?aﬁtw%w{m
I TR F IR we D

) T A i St W w R R

(2) State the provisions of the Companies Act, 2013 with
Iespect to qualification and disqualification of Directors.

()
State the legal provisions regarding calling and holding

of an Annual General Meeting. What are the
Consequences of default in holding of such a meeting.

(3)

Write a note on Audit Committee. (5)

§
)

(b)

(c)

OR

(

(a)

| DiStinguish between a whole time director and a

Managing director, G)
P.T.O.
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(b) What do you mean by insider trading? State the| (b)g
provisions regarding insider trading under the COmp: sl
hj

Act, 2013. 3 [ f
(c) Write a note on postal ballot. [ )

pl
(E)ﬁﬁ@'a%ﬁmmaﬁaﬁimaﬁ%aﬁ#m i

2013 E HAEAHA I Jeor@ ehiforg|

(ﬁ)aﬁa?mwéﬁﬁgﬂﬁ IR A & & @ it
ﬁmwﬁmmaﬁmwmamwd

& ko w1 B B 7 :
(1) o wden Wil W Reol ffEe Kﬂ
Tt [V

(%) Tierforn FRees it wog fRes ¥ iR awEgl 01

(@) ‘oraRe =R ¥ o e 27 wen s 200
Ja saRes =R ¥ wakte At et # Y
HI

() o o w R ffr '

5.  (a) What i ' 1l a
al 1s meant by inability to pay debts? Can 2 Comp( (‘T)

be wound up on this  ground? )
/
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(b) What is the process of dematerialization of physical
shares under the Depository System? Can these be

rematerialized? (5)

(c) Define the term books of account and discuss the
provisions for the maintenance of books of account under
the Companies Act, 2013. (5)

OR

(a) There are only two members of a company. They are
also the directors of the company. Both of them are not
on speaking terms.  Can the company be wound up on
this ground? Give reasons. (5)

\ .
¢ (b) Examine the salient features of the Depository Act, 1996.
| (5)

(c) Write a note on 'Tnvestor Education and Protection Fund"

(5)

1'1 (%) ‘Waﬁqgwm%’%aMWM%?wwﬁa?rw
MUR R A fhar w1 weher 87
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(i) Renting of immovable property as one of
declared service *

566 2 :
il

SECTION A \

1. (a) Discuss in brief the following:- r

;
!
!

(ii) Taxable territory and its significance |

f

(iii) Auxiliary Educational Services and its Taxabil

(iv) Relevance of place of provision on services.

(b) What do you mean by “Basis of charge”? Explain} (
relevance with reference to taxability.

OR

\
| [
1. (a) During the year ending March 31, 2016, XYZ &Y
was running the business of providing services relath
to agricultural operations. During the year it has recel
the following amounts:-

(2) Supply of Farm labour Rs. 5,00,000/-

(b) Carrying out of operations of harvesting F‘ (‘

20,00,000/-

(c) Renting of Space for storage of potato chip$
5,00,000/- 1

00

(

(d) Training for marketing of foods items Rs. 5,00,
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(¢) Letting out ground for exhibition of agricultural
equipments Rs. 3,00,000/-

(f) Providing training for application of scientific
research and knowledge to agriculture practices
Rs. 1,00,000

(g) Transportation of Agriculture products to mandi
Rs. 1,00,000

Determine the service tax liability for the quater and
indicate the date by which servies tax has to be remitted

by the assessee. (7)

(b) Discuss the meaning of “Negative List” and name any

six items. (2+6)
HANT &

(@) Feafofaa = 9§y ¥ waw o <=0 Sifwe-
(i) 2T ¥ & w@ ¥ I wGRT A A W
(i) =% 2w &7 vg TaH wEAl
(iii) weTa feres daTG T TR -
(iv) Yamsl W e @S w TEEEH
(@) ‘o @ ey ¥ o A R 37w F
¥ o e HRE
et

) 2190, 205t s 0 € e, XVZ& O
WW%W&WWﬁW@Wﬁ;ﬁ;
M vw 7 & o o R W 1.0,



v
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(@) R A st 5,00000/- &

(@) mnﬁa@ﬁf /T T 20,00,000/ - % |

(w) m%ﬁw%w%ﬁquﬂ

500,000/ - Tl
() @ T 2 fgue & fog wfErET 5,00,000/+
(o) T @ s @ e A B

3,00,000/ - Rl

@) et ¥y A e SR A aﬁmﬂﬂﬁ
wReor werd e 1,00,000 R |

mm%mammmﬁmaﬁm@aﬂﬁﬂ
¥ PR g o # Ry g A |

(ﬁ) “W@na}aﬁwﬁwwﬁﬁ’
EEIE (b

SECTION-B

2. (a) Tech
nol
ogy Ltd. is providing technology SOft

services. Th

bills raised, e firm gives the details of services ren

— flnancamount received pertaining tO the sefr’
ial year endlng 31st MaI'Ch 2017 as Uﬂ

I‘B

N

H Am
ount received being 20° 1
g 20% of the aSSIgﬂmen o'

on 31st M
arch, 2017 fOI' the up gradatioﬂ



enhancement of software services to be rendered
during the financial year 2017-18 Rs. 6,00,000/-

(i) Services provided to UNO, an international
organization in Delhi for designing and programming

of latest information technology software- Rs.
2,50,000/-

(i) Services provided to RBI for development of
customized software - Rs. 10,00,000/-

(iv) Amount for services rendered during the financial

year 2016-17 to be received on 31st December
2017 Rs. 7,00,000/-

(v) Amount received from customers who have

downloaded the companies standard software from
their website Rs. 5,00,000/- (7)

(b) Find out services tax liability of X (annual turnover is
more than Rs. 2 crore since 1999) for the quarter ending
March 17,2016 from the information given below:

(i) X has a business establishment in Delhi.
(i) He provides fashion designing servies.

(1i) During the quarter ending March 31, 2017 service

is provided to the following persons-

P.T.O.

" P L o A
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it
Name of Location of | Date of |
. : . . Amolln[ (b
the service | Se€rvice invoice (Rs) '
recipient recipient
. T
A Ltd. Varanasi October 10,2016 48,750
— (@
B Ltd. Jammu November 15,2016 12,0000
C Ltd. Singapore | November 25,2016 63,0001
D Ltd. Mumbai December 1, 2016 1,55,000
All desig

These services are provid

drawings, art works, etc. are sent

nts. The quantum of service ta
A Ltd. gave an 2

recipie

amount given above.
10,00,000 on September

October 10,2016, The cheque Was
date. However, it is credited in the ba

October 6,2016. B Ltd. C Ltd. ha
g on Decem

The amount outstandin

14,00,000 (A Ltd. : Rs. 2,00,000, C Ltd
Find out the service tax liability of X
December 31,2016. All figures (except 2

ed from New Delhi.
from Delhi to seril
x is in additionib

dvance of

30,2016 against the inv
depositcd on ;
nk account of A

‘ven any @

ve not g1

for

10,00,000) are exclusive of service tax.

(2) What is reverse charge mechanis

cases covered by it.

OR

the quarte’ enR
dvanc®

0

R?;
oice dﬂ’)
the 5

dvan!

ber 31’2016 i |
_: Rs. 12’00’00[,

il

0
[

f
ain 8

{ .
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) (b) Explain the provisions for registration under Service tax

Act.

(7)
TR -

(%) St Tt A W, i e A9 v ax
@ 21 AE WA 31 W, 2017 B TG AT T By 1§
fo, wer W T A, wgw v T R, ¥ @ wsy
AU oW & R AR TR ¥ e e e 2

(i)

W Yoh D 20 TREE 90 & w9 X 31 969, 2017
i facig af 2017-18 & R wiwedw AqE @
ST TE gEed & g WM @ WW et W
EFRIET & AET 6,00,000/ - .

AR A WIS |iteaay &t SifSheqs T U
AT 3 Rl fom sl wwe goAat =i
W &l g 99¢ - 2,50,000/ - T

aEEaER AT divedm = fHwm = 5
WA RS Y &I e & 18 991¢ - 10,00,000/ -
w I

facig af 201617 & 9N Yew daEt oy 31 A
2017 & W @t WM delt WEr 7,00,000/ - R

3 T T wr Y REER weE @ e
W%W%ﬁ%ﬁmﬁmm% 5,00,000/ -
®! p.T.O.
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($)ﬁfaan—§amrﬁ%mqﬂ7w,2onaﬁm i

e R B R R TR A Y ]

(et i R af 1999 ¥ 2 A X G 3y |

(i) vE FEET S SR gfase foeeh A fum 3y | A

(i)

(ii) 31 W= 2017 ﬁﬂwsﬁmﬁﬁw@%ﬁ
P el A a0 e Ao B | g

a5 By RO A9¢ W&H HE B

AT ATt QAar Areaedatl | gAAEd @t afer € & fr
®H AN W/ A aRRa
EE
T fofcs TRITE HAFTE 10,2016 48,75,000 §
@ fafads i TaRR 15,2016 12,00,000
[ Ray
w fafade famge qARR 25, 2016 68,000001 p
. foll
o fafes LiCH w1, 2016 1,55,000 *

R by

2 T 7 et ¥ e & w31 wh R,
g TR Bt ¥ e v @ a0 by
Wﬂ%?ﬁmaﬁﬂﬁr%aﬁﬁaﬁélﬁﬁﬁﬁ”h

feem =t 2016 =t Reiw 10 HFCER, 2016 & HIAR 10,00/

!
T SR Y1 A I@ Wi W s @ an A 't

m%%“ﬁﬁéw, 2016 = Rfee o @



\ =

LY

\

-
BN

a fifde X & o weR A R wfa = A R g v,
2016 @ s T 14,00,000 & B (F ffids: 2,00,000
¥, T s 12,00,000 ® )1 31, e 2016 w wH= A
et R @ R vam @ dar K wd Jw Aifam o
s (10,00,000 TR # A Al A BIHT) wHAA A0
F B B

Jrerdr

(%) S R vl (Red =t Asfrew) @ 27 3@ 3
s fFu v B @ Aeel @ e @i

(@) ¥ = Ffem & st goter & g g At S
B

(a) Rahul Dev provides services as travel agent for Airlines.
For the quarter ending March 31,2016, he gives the

following information-
Air fare collected from recipients of service 28,00,000/-

Commission charged 2,00,000/-

|
Nterest recovered for late payment

of dues by customers 10,000/-

Chare . |
harges for deliver of tickets 2,500

P.T.0.
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Find out the service tax liability for the Quarter o,
March, 31, 2017. Rahul Dev is not a sy Ser(i{n
provider. He had not charged any service tay inL
bills. Is he liable for service tax? (

(b) What 1s meant by “Abatement”? Discuss any |

abatements. (,

OR

3. (a) M/s Nitin & Associates, a firm of Chartered Accou
raised an invoice for Rs. 1,14,000 (Rs. 1,00,000 + Ser
tax of Rs. 14,000 @ 14%) for services rendered
01st November, 2016. The client p’é'id lump sum of
1,05,000 on 1st January, 2017 in full and final settlems

(i) How much service tax M/s. Nitin & Associt!
have to pay and what is the due date for payl

of service tax?

(i) What will be the liability if the client refuses|

pay service tax and pays only Rs. 1,00,0007 (‘

(b) Discuss the following in Brief:-

(1) Point of Taxation.

e ———

(i) Rate of Service Tax.

(i) Date of Payment of Service Tax.

e Ts——
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(iv) Return of filing of return of service tax. (8)

() TEH ¥ L TIC F T K AL K TR 4 e e
2 31 WM 2016 W TW BN A0 AR B fw, @
fFrfofad e <@ 3 -

AT WEEA ¥ TEA TR W gaE @ 28,00,000/ -
7RG T 2,00,000/ -

T ¥ 37 IR & e | fade 3
T fher T = 10,000/ -

\ fwe 9w g W 2,500/ -

/

31 A, 2017 Y T B TR R H frg Jaw HW @@
T AR e 37 S e @ ) e g B
¥ 9 @ Ja e yRE T BT o T A D
R soed 37

() “W"maﬁwm%?ﬁﬁf%mﬁﬂﬁﬁ
Hifm
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. 566
+ 14,000 & ¥ET mmaﬁaﬁ)ﬁ%

1 TEE T 1 S0, 2017 T IR AR Py
¥ g 1,056,000 T A UGICINET; |

&G BN TS AT T T A w0 Ry

27

(ii) uﬁmﬁrwwwwﬁﬁw'wéﬂ
vg e 1,00000 € N A Al & WA

R ?
() Pt w w@e ¥ == AR
(1) Wﬁ?ﬁfl. (
k

(i) W@ = @@

(i) ¥&r o= EEE @, Rt
(iv) ¥ &% & aud oo Sy WA

SECTION - C

4. . | :
(2) Ms. Disha, a dealer submits the following informatlt

Ir‘nport of raw materials
(including 109, import duty)

o
1’10,0 (’4
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0
Raw materials purchased from Rs. 2,24,000/-
Delhi (including 12% excise duty)
VAT@4% on above pufchase_
.Raw material purchased from Rs. 85,000/-
Mumbai (including CST)
Transportation & Manufacturing Rs. 27,000/-
expenses
Disha sold the entire stock at a profit of 10% on cost
of production. VAT on such sales@4% Compute the
net VAT liability (7)

(

b) Write a note on anti-dumping duty and countervailing
duty. (8)

OR
(

2) What is composition scheme under VAT. What are its

merits and demerits. (4+4)

®) What is input tax credit? Explain the relevant provisions
under VAT, (7)

P.T.O.
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4.

oy e B S (10 R

~

(12 vt Se@ e afed) 2,24,000/-

W@EW4qmaﬁ‘a¢%wmﬂaﬁfﬁm

[
~

wef A @ Y (T T WA R afeq) 85,0007

]
])]0,000/~
s Yo §fed) i

| fafmor =@ 27,000/"
qRaege

. &
ﬁm-ﬂﬁmlgﬂmﬁﬁﬁaﬁrm4qﬁﬂﬁ
wﬁ%ﬂﬁ%mﬁaﬁ%%ﬂwqﬁm” g

|
(=) “ﬁ-mﬂﬁ@uﬁaﬂﬂ'wwww

Irqdal

}
o
(@) T AT R D mmmw%?w@ ;‘

FEOT T B 7
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(a)w?wmﬂ%?ﬂﬁﬁﬁaw%aﬁﬁamﬁm
\ TEUE & SR i)

Explain the following terms in excise laws:-
(i) Compounded Levy Scheme

(i) Manufacture and deemed manufacture

i

(ii1) Goods (5%3=15)

OR -
W Explain the following terms in excise laws:-
I () CENVAT credit
3 (i) Job Wor1.<..

¢ (i) Tariff value (5%3=15)

T Yo w X FrfRa T @ o S -
(i) VIR IQEW Ao (FEte S @)

(i) Rt va e o
3!

)
/

P.T.0.
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AT
5. SR Oew whE ¥ PR @ @ e .
(i) AT afe
(i) o ==

(iii) e I
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(b)

(2) I

)

What are the provisions for issue of shar
€ ar .
d

premium ? Explain.
§

X Limited issued a prospectus inviting applicatjq, fo
f
1.00.000 shares of ¥ 10 each at a premium of ¥ | Per shar.

pavable as follows :

On application ;33
On allotment : ¥ 4 (including premium
On first call o
On second and final call 132

Applications were received for 1,40,000 shares and Pf°1
rata allotment was made on the application for 1,20,000
yed of

shares. Money overpaid on application was emplo

account of sum due on allotment.

¢
Peter, to whom 500 shares were allotted, failed to P ay .

i
, ay |
allotment money and on his subsequent failures t© PY,%

ef |
the first call his shares were forfeited. Ronie, the olde

E
of 800 shares, failed to pay the two calls, his shares wel L

forfeited after second call. Out of forfeited shares: 1.0

—



(3) 567
shares were sold to Alex as fully paid up for ¥ 9 per share
the whole of Ronie’s shares were being included Show

journal entries and the Balance Sheet. 10

(@) oAl w1 g W S e & faw s
qEaHE © 7 T SHifu |
(@) xud.ﬁ%luﬁs’m%uﬁﬁuﬁwnouﬁfﬁaﬁ

& 1.00,000 I B AU ST HiTA gL TH R
ofreT 9 @1 IR 3 OTER I |

AT T 23
AW T :24(9?%74141?%'6)’
Y99 A G £ T2

@ﬁ M Afan Tﬁfriﬂ : T2

1.40,000 S} & foru omEgT 9< €Y 31X 1,20,000
W @ aded W AL sneed fRA Tl
St fer Y S T TE TE T P B
Feifsm fapen T

PTO.
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311-3-2014 F) UF FUH F T3 T3
T o,

2hAamd -

Y

50 9@ I F 9000 STT7

4.50 000
2100 WA W # ge, wfimr v y
0000
fa'u F'l'q r‘q,r"
96 (0N
"A-I ' . ! :
113000
qm
7 89 000)

| 6.90 000 N
fAaw

37.000
62.000 l
Ty S

7.89.000

(F) ;
ﬁa\sﬁaﬁ?:»z_oooﬁaag n



tre——, O ————

>

( 7 _
367

(@) AE-FE T T 7 24.000 FT 95 T WO S

T 0

(m) =t ¥ At = fqu 2 13 9 v 3 difEs
T 250 F TG TN § I Y W e
i

IF AR F T w1 F fou w9 wfaf=a Fifa

AR A S F AR GeifeE sEEE v SER

OIS TR it

The balance sheet of Z Ltd. disclosed the following information

on 1-1-2013 -

3
13% Debenture Alc 7.00.000
Debenture Redemption Fund A/c 5,00,000

130 &
>7 Debenture Redemption Fund Investment A/c  5.00.000

h )
€ annug]| contribution to the Debenture Redemption Fund was

3
70.000 for the years 2013 and 2014. The debentures Were
P.T.O.



(10) '

36

The following scheme of reorganization is Sanctione .
(a)  Fixed assets are to be written down by 331739,
(b)  Current assets are to be revalued at ¥ 27 g 000

(¢)  Preference shareholders decide to forego theijr right ¢,

arrears of dividend, which are in arrears for three year

(d)  The taxation liability of the company is settled g

< 4,00,000 and the same is paid immediately.

(¢)  One of the creditors of the company, to whom the

company owes ¥ 25,00,000, decides to forego 50% of his

claim. He is allotted 1,00,000 equity shares of ¥ 5 each

in part satisfaction of the balance of his claim.

) The rate of interest on debentures is increased to 11%.
The debentureholders surrender their debentures of

¥ 100 each and exchange the same for fresh debentures

of T 75 each.

(&)  The existing equity and preference shares are reduqed t0

< S and ? 75 each respectively.

Pass necessary Journal entries and show the new Balance Sheet

of the company. 15




-

(1)

- 567
g Ltd. T 31?['4,20153% @Fﬁ'q-qggm% :
ceCUUE
139 TE 3IEM I, T 100 I SR 100,600
10 9fd IR & 3fFEl IRR 700000
8% RUTIA 3,00,000
A I | 39,06,000
ETIElicT fﬁq FIELIE] 3,00,000 -
qT | 53,00,000
frep qﬁgqﬁm‘f ' 15,00,000
T TREaRE * | 35,00,000
M-TF Srar 3,00,000
. 75300000

kiiaes

T %) Frefarfaa Ao TR BT
%) feor wfify @71 331/3% FEcEd A T

P.T.O.
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%

(h)  Calculate the value of one equity share from the foi
. O\Vin

( 14)

information :
(i) 60,000 equity shares of ¥ 10 each, 7 7 Paid-uy

(i) ¥ 2,00.000, 10% preference shares of ¥ 100

each, fully paid;
(7if)  Expected annual profits before tax I 4,00,000;
() Tax rate 35%:

(v)  Transfer to General Reserve 20% of profits every

year;

(vi)  Normal rate of return 20%.

(F) TF AT § FREAR & G § Feraren @0

BRNES % i

(1) TS e
T 2008-2009 F = 7 50,000
920092010 F = 7 60,000

9 2010-2011 F = 7 55,000




(@)

(15)
567

2) 9AFEA HI AERT TT = 00

3 i:—‘la”\aﬁ m\ -
&) TSIt = 2 3,00.,000.

@)  10% T 5aﬁ$mmmﬁ
Chiccalco
A T = % 3.78.

5) oy # oirEd B SMUR W S 2 3,000 F
oy Infae ¥

A Tefaa w1 qea IR A T
() offuemstt & Wi ol w B F STIER

G SAReny ® SRt B SMER W, I

() %10 9fd TR & 60.000 SfFET AR, T 7 &,

(i) g gﬁf + 100 Tfd SR W T 2,00,000, 10%
sfEE TR,

(iii) Am qd et giftier ¥ 3 4,00,000;

P.T.O.
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%)

(16)

(iv) HL T 35%;
) TE® a8 Wl B 20% HHE Ty
sraf;
(vi) FFAHEA &I AHFT T 20% |
Or
(3tgram)

The authorised capital of Narendra Limited is ¥ 5,00,000
consisting of 2,000 6% preference shares of ¥ 100 each and 30,000

equity shares of ¥ 10 each. The following was the Trial Balance

of Narendra Limited as on 31-3-2011 :

Trial Balance as on 31-3-2011

Particulars

Dr. Cr.
Investment in shares at cost 50,000
Purchases 4,90,500
Selling expenses 79,100
Stock on 1-4-2010 1,45,200

f!'

| Salaries and Wages 52,000 I
: \ " i




Interim preference dividend for the

half-vear to 50-9-2010
Discount on issue of debentures
Preliminary €Xpenses
Bills receivable
Interest on Bank Overdraft
Interest on Debentures up 10 30-9-2010
Sundry Debtors and Creditors
Freehold property at cost

Furniture at cost Jess depreciation of

T 15,000
6% Preference share capital
Equity share capital fully paid-up

3% Mortgagee Debentures secured on

freehold properties

12.000

6.000

2.000

1.000

41,500

7.800

50,100

3,50.000

367

87.850

1,50.000

P.T.O.
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567
Income-tax paid in advance for 2010-2011 10,000
Dividends 4250
Profit and Loss A/c (1-4-2010) 28,500
Sales (Net) _ 6,70,350
Bank overdraft secured by Hypothecation

of stock and receivable 1,50,000

Technical know-how fees at cost paid

during the year 1,50,000

Audit fees | 5,000

14,90,950 14,90.950

N

You are required to prepare the Profit and Loss Account for
the year ended 31-3-2011 and the Balance Sheet as on that date

after taking into account the following :

(a) Closing stock was valued at ¥ 1,42,500.

b o N n .
() Purchases include 7 5.000 worth of goods and articles

distri ;
Istributed among valued customers,




()

)

| i itten O
Technical know-how fees is to be writt

(19) 567
Salaries and wages include ¥ 2 00 being wages incurred

for installation of electrical fittings which were recorded

under ‘Furniture’.

Bills receivable include ¥ 1,500 being dishonoured bills;

50% of which had been considered irrecoverable.

Bills receivable of X 2,010 maturing after 31-3-2011 were

discounted.

Depreciation on furniture to be charged at 10% on written

down value.

- ¥ 1,000 on discount on issue of debentures to be

written off,

Interest on debentures for the half-year ending on

31-3-2011 was due on that date.

Provide provision for taxation ¥ 4,000.
ff over a

— to be
period of 10 years. ¥ 500 of preliminary expenses

Written off, 0
P.T1.0.



(k)

U

Prepare the financial statements of Narendra Limited as pe
Revised Schedule VI. Figures for the previous year can be

ignored. ' 15

T3, . 1 wiferpa geft 7 5,00,000 & TR 2,000, 6%
A\ IR 2 100 9fd X 3R 7 10 gfa I F 3,000
3t SR e ¥ 31-3-2011 T A . AT IE-WIE

9 TR 97

ST a9
AT W F g 50,000

T 4.90,500

Tech] =7 79,100 |
1-4-2010 1 i

e |
(20) |
%7
Salaries and wages include ¥ 10,000 being the Dir

remuneration.

Sundry debtors include ¥ 6,000 debts due for more th,
» h

six months.

31-3-2011 T YIS GIT&yOT

145,200 (



b

(21)
3 iR HeIgd
79 VFS

a8 WA " 30-9-2010 T hm

SIELIE RGN
U & i W oaem
TRER =4 |
= fee
I ARG W AN
30-9-2010 TH FUGA T A
fafay IR iR TR ‘
AN W QUi datd
AT W HAER T 15,000
T
6% Stfermm S gof
TR grR g, ol e

52,000

12,000

6,000

2,000

41,500
7,800
3,750

50,100

3,50,000

35,000

367

87,850

2,00,000

2,00,000

P.T.O.
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QT Ul WS
30, SYH] O

1500

2010-2011 & U i 989 S™FT 10000

ST
Y- ol (1-4-2010)

ol (=)

WiE M g F T W

SO dF sfeRErR

99 & IRHE A W T&T
RERIEINSIEEa til 0
TG Yook

425
28.500

6.70,350

1.50,000

1.50,000

5,000

————_——‘/

——

14,90,950 14.90.950
—_/

HAHT 3132011 1 TG a9 & fog arw-w g
ﬁ?ﬁmﬁf@ﬁﬁmﬁr@ﬁ.@maﬁﬁﬁ

BRI e B

(%) " = 1 gwm 7 142500 1)

e,
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(23)
567

(@) Bl # T IER # fEafE 25,000 gow
el oI WEE wWiHE €

(1) Aa @R eI # ol 1 fRfEw T W et
72,000 F FGH WA ¥l T HAR F ST
=5t fora T Al |

(7) W= fae H3 1,500$WWWW%I
T J 50% F srieles WA fere T

(T) 31-3-2011 & I8 IR 2 2,010 % I foal

wgrpd feear AT

(=) ﬁmmg@maaﬁﬁf@ﬁ{emﬁ 10% T FIRa

Eximsitull
(?”)Wﬁﬁﬁﬁma@@ﬂ,ooomm@@?

p.T.O.
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567
() aﬁa‘ﬁaﬁ?ﬂﬁw,maﬂf%w%
feran <@ ?5oouﬁfwaﬁfﬁa¢qﬁqﬁ§mﬁm
T | |
() I iR woRd H FRv® 2 10,000 Wisifiys

e ©

(3) fafaw M H 6 HEH T Ik & 2 6,000 Ft
IR Wik ®

TYRE SR VI @ oA RE fA. & fadia fem

fom F | o A @ swe @ e B o T

T

H Ltd. acquired 2,000 equity shares of ¥ 100 each in S Ltd. on

31st March, 2013. The summarised Balance Sheets of the two

companies as on 31st March, 2014 were as follows :

Liabilities : HLtd. S Ltd.
Equity shares of ¥ 100 each 800,000 2,50,000
Reserves 300000 50000
Profit and Loss A/c 100000 1,00000
Creditors 200,000 50,000

e e e e "-__‘/'
Total 50000

14,00,000 __‘L_/

|
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567
Assets : HLtd. S g
Fixed Assets 700,000 2,50,000
Current Assets 4,00,000  2,00,000
2,000 shares in S Ltd. at cost 3,00,000
Total 14,00,000  4,50,000

S Ltd. had a credit balance of ¥ 50,000 in the Reserve and

7 20.000 in the Profit and Loss Account when H Ltd. acquired

shares in S Ltd.

S Ltd. issued bonus shares in the ratio of one for every five

shares held out of the profits earned during 2013-2014. This is

" not shown in the above Balance Sheet of S Ltd. Prepare @

. * i ] st
consolidated Balance Sheet of H Ltd. and its subsidiary on 31s

) 15
March, 2014 giving all necessary workings.

: : & 2.000
H Lid, ¥ 31 57, 2013 § S. Ld. AT 100 PIGRIRE

et v e g 3 31 20

P.T.O.
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F WEMFT TT-TF T THR ¥ K
W : H L, Sy
2 100 90 9 & 3R S 500000 505
SARFEf 3,00,000 50,000
AH-'IM A 1,00.000 100009
AR | 200,000 50000
T 14,00,000  4.50000
qftdafaar @ | ~ HLtd. SLu.
feerx aftgufaat | 7,00,000  2,50,000 |
o aiEetest - 400,000  2.00.000
S. Ltd. H @ W 2,000 I 3,00,000

R - 14,00,00 _ff%o';o

S Ltd. T sRfea fafy § 7 50,000 3t ary-a1 @ ¥

¥ 20,000 FT S A o, W 1 1od, ¥ s Lid F IR I

[EQ Y
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L. 7 2013-14 P SRE AT ol } wRe e i
gl & T TF F ST W A R W e
7€ S Ld. & SUGR -9 # 98 femn o ¥ uy
amferd foraief®l Q4 T H Ltd. 3R STH Gems w9

F 31 HE, 2014 T THfRd qOH-99 TR Hif
Or
(3Tram)

(@)  Distinguish between amalgamation in the nature of merger

and nature of purchase. 5

(B) " The following are the balance sheets of Kay Ltd. and Jay

Ltd. as on 30th September, 2014 ;

Liabilities - Kay Ltd.  Jay Ltd.
Equity shares of ¥ 10 each 4,00,000 1,80,000
Genera| Reserve. 5,00,000 1,00,000
Profit ang Loss Alc 3,00,000 80,000

PT.O.

(™~



Debentures

Creditors

Bills Payable

Total

Assets :

Fixed Assets

Current Assets

Investments

Total

(28)

%7

3,50,000
2’wsm | ,(x) (m
50,000 40’%
——
18,00,000 5,00,000
7,00,000  3,00,000
6,00,000 2,00,000
5,00,000 —
18,00,000  5,00,000

o

The Board of Directors of Kay Ltd. approved to takeover

Jay Ltd. as on 30th September, 2014. Find out the

ratio of exchange of shares on the basis of the book

values,

10

W)W%m%ﬁnﬁmﬁr{@ﬂaﬁm
%W@mﬁuﬁamﬁm -
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367

(@) Kay Lid. IR Jay Lid. % 30 R, 2014 & Fem-w

frefafed ¥ ¢

d
.
.

¢ 10 Wi IR B TR IR

g STRfEfd
- o
EULES
.

g faa

Kay Ltd.

400,000

5,00,000

3,00,000

3,50,000

2,00,000

50,000

18,00,000

7,00,000
6,00,000
5,00,000

18,00,000

Jay Ltd.

1,80,000

1,00,000

80,000

1,00,000

40,000

5,00,000

]

3,00,000

2,00,000

5,00,000

P.T.O.

(™
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Kay Lid. % FFIF F2F 7 30 fadm, 014 o

( 30 )

: 1 ATYTET FLAT TS =

Jay Lid. F1 HAfETE T F Tormn o ‘
FEE gl F AR W I G o |
A AU | |

From the following details relating to the Accounts of GM Ltd.

prepare Cash Flows Statement as per AS 3 Revised :

Liabilities : 31-3-2012 31-3-2011
Equity shares of ¥ 10 each 10.00,000 800,000
General Reserve 2.00.000 1.50,000
Profit and Loss A/c 1.00,000 60,000
Debentures 2.00,000 —
Provision for taxation 1,00,000 70,000
Proposed dividend 2.00.000 1,00.000
Sundry Creditors 7.00,000 8.20,000
Total 25,00.000 w :
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567
Assets -
pant and Machinery 7.00,000 5.00,000
Land and Building - 6,00,000 400,000
[nvestments 1,00,000 —
Sundry Debtors 5,00,000 7,00,000
Stock 4,00,000 2,00,000
Cash on hand/bank 2.00,000 . 2,00,000
Total 25,0Q,OOO 20,00,000

Additional Information :

(@  Depreciation @ 25% was charged on the opening value

of Plant and Machinery.

(6)  During the year one old machine costing ¥ 50,000

(WDV 20,000) was sold for ¥ 35,000.

(@ % 50,000 was paid towards [ncome tax during the year.

(d) Building under construction was not subj

depreciation.

ect to any

15

P.T.O.



Deposits
Rebate on Bills dis-
counted required

Commission

Establishment

Discount of bills dis-

counted (net)

Interest on Cash

credits

Rent & Taxes

Interest on overdrafts

Directors fees

Auditors fees

(34)

2.75.000

49.000
8.200

54,000

1,95.000

223,000
18,000
1,54.000

S

2,

Interest on balanceg

with RBI

Profit on sale of land.

building & other

profit on exchange

transaction

Interest on RBI

borrowings

Interest on borrowings

from other banks

Employee salaries
Interest on savings
bank deposits
Postage & Telegrams
Printing & Stationery

Sundry charges (Cr.)

X

50000 |

10,000

12,000

10,000

20,00

68.000
[ 400

2,900

700

3

f

=y
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Bad debts to be‘written off amounted to ¥ 40,000 Provisi
»=UUU. 1on

for taxation may be made @ 35%. Transfer 20% to statutory

reserves and 5% to revenue reserves.- S

A3 H T G H ER W 31-3-2014 H TAG T
% fTT ABC Bank Ltd. &1 SIH-gIf1 o ¥ T

000 F 3TRS)
n'a - -
50 W ST 250000 T @@ T
aafee SHT W SIS | 42,000
i
I o500 wRdE foE 9F
TP foddl W g 9 W &S 50000
i : |
fee 40000 fH, AT i fowl
i o
T ga0 TR @ R
A u
P it wem
i
]I}
- (7%) L5000 RBIE ST
7 Sfea | I 12,000
PTO.

Al
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. G
AT 223000 T TR F uyw
fopan IR 18000 O S 0

sevgre W &S 1,54,000
faegmnl 1 Yooh 3,000

Sren TR N OYEH 1200

FHEEA T S 20000 |

F9d ook STHI

W AlS 68,000

TS0 3R é@?—m 2,900

fafay gar (SH1) L

2 WH T T SN Wil s T ¢ 40,000 A
FAUE & fou 350 W mmmmm%'

20% HTLAT s SR so; v amfEfy 4 AT

hIfT |

0.

(qe

{hme
| i
TH-Td AR TR 1400

{rieste

{ntio
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Attempt All questions. .
All questioris carry equal marks.
at v et ¥

B R - Sy
l . .
-

Evolution of Cost Accounting is the outcome of deficiencies 1 Financial Accounting”.

Dy ’
1SCuss the statement.

P.T.O:



p) Nidhi [ndusti€s gives you the following data pertaining to material X .
( ,

(b)

Supply period

Consumption rate
Maximum
Minimum
“Normal

Yearly -

Storage costs are 50% of stock value. Ordermg costs are Rs. 400 per order. Price

‘per unit of material is Rs. 64. |

Compute :

(I)  Economic Order Quantity
(I) Re-order level

(IIT) Minimum stock level

(IV) Maximum stock level

(V) Average stock level

(

2

y -

4 to 8 monthg

600 units per month
100 units per month
300 units per month

14,400 units

10

VAN SREie w6 HET (Evolutlon) %ﬁﬁ'q TR skl Higdl 1 IR gl

9 HYFA H1 GUMH hifST |

ﬁfua'@numtﬁ@ﬁwaﬁaaﬁwﬁﬁgamﬁﬁ@%r

agfd srafy -
399AT
3fereRay.

~JAdq

41?[81413

V6OOST=FI§‘;Iﬁ'TW.

100 Sh1e wWid HIE

- 300 3 wid qr%._

14,400 3ehTS
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568

() FIdH &Y TN
(V) SeFT WY w®R

L V) ¥ =Y

Or

(\'ﬂﬂal)
pts of “Cost Unit” and «c " Wi f
eEx - and “Cost Centre ith the help o

-~

F . . | )
rom the following information, work out th

overh i a
rheads in Department A, B and C of Noya Electricals Ltd :

10
Total  Production Departments Service Departmeng

< A B i D E

. ? ? 4 X ?
- 1000 200 400 150 150 100
"%xty

. 200 50 80 30 20 20
. lnkur&n%

. 400 80 160 60) 60 40

Depreciy

: fation 4000 1000 1500 1000 300 200
L.

g 400 50 50 50 100 150
-l :

Working Hours 1000 2500 1800
PTO




¥

(4)

. Dc’?partments D and E are apportioned as under .
AN 3 o Scr\,lcc )

S of the

N

ol

|

;

: A B C P :

§ o 30% 40% 0% 10%

; E 10% 20% 50% 20% —

| e e ot o o S s

? wﬁqﬁ«{f@'ﬁlﬁmﬁmﬁﬁ it e goAfRHTE, TG & fau

4t ¢ F IR B e T T O HIfST
r B Jaareq famm Har faum )
i 4 A B C D E
4 ? 4 4 7

| ferman 1000 200 400 150 150 100

tasref 200 50 80 30 | 20 b
T A 400 80 160 60 60 40
e fo 4000 1000 1500 1000 300 W
o e %0 50 so 100 P
T fr; 2 1000 2500 1800

Wfdﬂmnaﬂ"{r«;%,mwmaﬁ@:
A B ¢ D E

D 30%  40%  20% 10%

- B 10% 20%  s0% g

‘m | : | N
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(5 - 568
What is meant by overtime wages ? State its trentment ip Cost Accounts. 5
- From the following information compute maclﬁne hour rate
Cost of machine 3 44,000
Scrap vlaue < 4,000
Rent for the workshop

% 25,000 per annum
General lighting for the workshop

¥ 160 per month
FOWer consumption 20 units per hour

@ % 20 for every 100 units
Administrative €Xpenses allocated to the machine

X 4,000 per annum
Repairs and maintenance

75% of depreciation
Workshop Supervisor’s salary % 3,000 per month
ESlimated working time per year

50 weeks of 40 hours each

gl

E‘Uo

"C

2 urs per vear
Up time which is regarded as productive time 200 hours per yeqy

No POwer s consumed during setting-up time

o 10 years
-ective life of the machine

»d to devote
The Machine occupies 1/4th area of the workshop, The SUPErVisoT is expecte

13rd of his time in supervising the machine,

10




{
( 6 ) 5
Y ®) ﬁqu@ﬂgam@wsﬁ?‘a’aﬂﬁmﬁ%ﬂ:
o ot A T a4y
g T (Serap viaue) )
e 1 R 25000 s
el 1 HERT TR | £ 160 o
20 T WRT Her Wl S @ 220 ¥ 100
oA @ STeifed FIE(TE A 2 4,000 5 ol
i ﬁw?ﬂn‘i
] TR A T 3,000 ¥l W
ST A T A T 40 ¥ FIF & 50 T
T | 2ooa’émg
W Y & SR R w9 |
TN & gl e | p
W‘mmmmw%'m%mﬁmgﬁmﬂ

|
3 ¥R wel A g w0 § wd |

Or

(3teram)
© D

iSCUsS .
the treatment of over/under absorption of gverheads. - i
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8 crom the following, prepare a Cost and Production Statemem of Nayonika Stoves

) Fr

“ \anufacturing Co. for the year 2015-16 :
0 .
. stock of materials on 01-04-2015 35.000
" Stock of materials on 31-03-201¢ 4.900
Y Purchase of materials 55500
R

Factory wages

95,000
Ty
Factory expenses

17,500
~ Establishment expenses 10,000
‘{ Completeq stock in hand op 01-04-2015 ‘ Nil
T | »
Completed stock in hand on 31-03-2016 35,000
ﬁ j .
- Saleg 1,89,000
he numbgey of stoves manufactured during the year 2015-16 was 4000.
T " :
The COmpany wants to quote for a contract for the supply of 1000 Electric stoyeg during
S the year 2016-17. The stoves to be quoted are of uniform quality and make similar to
those Manufactured in the previous year; but cost of materials has increageg by 15%
N cost of factory labour by 10%.
"pare 5 Statement showing the price to be quoted to give the same percentage of
‘ "t profiy On turnover as was realized during the year 2015-16, aSSuming that the cost
5

: . ' .
Per ung of overhead charges will be the same as in the previous year, 1

|

5
P.T.O. '




(d)

| mf@a@,asizms-m%aﬁa’*
mmﬁﬂmwaﬂm:

3

01.04-2015 1 TR it 35,000
31-03-2016 1 ThY Rl 4,900
Tl FA 52,500
Rt A 95,000 ¢
b \ ' | 17,500
e = ' . - 10,000
01042015 1 qoi TR TN Wi wg A | - Ni

31032016 1 O foren T Wi wy #H 35,000

mqﬁ]ﬁm@wwwﬁmm

- . 1 1,89,000
U 201516 & INA IefEd WeE F TSN 4000 o |

T 201617 H SR FHET 1000 SAfRF Wrew = aﬂﬁ@#ﬁaﬁmﬁ@
(Quote)mm%l@f&quﬁqﬁ-@(()uae)mm%a m-qﬁﬂ‘nﬁw

zjmmﬁﬁwﬁa%wﬁ;mmaﬁmls%ﬂ”ﬁ
T A A0, & g R

e, ——




9 ) 968
) Distinguish between job costing ang Process costing, 5
("
) Abeer owns a fleet of taxjeg as the following infonnatiqn is available from his
records :

e Number of taxies

10
00 3
)0 Cost of each taxi 20,000
0 ‘ Salary of manager - 6,000 p.m.
0 Salary of accountant 500 P.-m-
0 Salary of clganer o 200 p.m.
B Salary of mechanic | 400 pm.
ﬂ . Garage rent | Bl .
) ‘ Insurance ﬁremium e - 976 per amum
1t tax 600 per 20

. | 2 p.m. per taxi
Drivers salary 672 p

1000 per taxi
Aol repeir |

' th of
- . : 00 km in @ mon
Total life of a taxi is about 2,00,000 km. A taxi runs in all, 3,0

k % 49. Oil and
Whic ion i i 10 km @<

ich 30% it runs empty. Petrol consumption is one litre for

o 1l run . : |

Other sundries are Rs. 5 per 100 km.

10
i i per km.
Caleulate the cost of running a taxi p

i

DT



.
¢ ST - : S gfFEE FEFA (process costing) § - -
() @ F@HA (job costing) H Tk (p ing) ¥ 3=y T |

bz A F T oA FT TEd g, 9% HWAE (records) B 3

4
TF S F] A 20.000

PERERCD éﬂ?_ 6.000 %A TE
it 500 WA T (

71 ™ 200 w4 T

400 9f9 =7




Or

(sream)

g Constructions obtained a contact for Rs. 4.00.000. Work commenced on | January 2015

+ith the following expenditure :

Stores and materials

Rs. 72.000
Wages Rs. 65.000
Plant and Tools Rs. 20.000
Sundry Expenses Rs. 5500 and
Establishment Charges

Rs. 11700

The valye of plant and tools on site on 31 December 2015 was  6.200. The value of stores

2 materialg was T 3,400 and the cost of uncertified work was ¥ 21.900. It was later certified
R 25.000. Cash received 2 1,40,000 being 80% of work certified.

" materja] costing ¥ 12,000 were unsuited to the contract and were sold for

4)00 A portion of the plant was scrapped and sold for Z 2.300.

*Ontractor wished to take profit on this contract on estimation basis and the following
'S
Mates were made :

Thay the contract would be completed by 30 September 2016.

Thay further wages required would be 2 71,500.

P.T.0
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(12) -

(3) That further stores and materials required in addition to those in stock i

7015 would be 7 68,600 and that of sundry expenses would b,

31 December

Rs. 6,000.
be T 25,000 which would have residual valye

(4) That further plant and tools required would

of T 3,000 on completion of contract.

Id cost the same per month as in 2015.

(5) That establishment expenses wou
tal cost of the contract would be charged as a provision for contingencies.

(6) That 2/4% of 10
15

Prepare Contract Account.
mmﬂﬁ@ﬁﬁaﬂ,oo,ooommm%s | e 2015 1 f= =@

%mamgag’rm%:

HER To Wl Rs. 72,000

LR Rs. 65,000

W, T ST Rs. 20,000

T o Rs. 5,300 @l

TR Rs. 11,700 ;
]

31 few=R 2 g | :
msaﬁwqamwiﬂwmm,zoowm@mﬁ
H 4

‘ T T 3,400 a1 3R stymrdighd e (uncertified work) T R ¥ 21,900 &1 s
3 5 7 25,000 TR R T g0 F A w4 W e Wi 14000

ﬁc‘fﬁl_
%@WW?IZ,OOOW*Wané@¢14,sooﬁaa1w1ﬁﬁ
1 T 9 G @ T e ¥2,300 F S0 mm
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WNWWWWWWW“WW#@RWW
A | |
; R 30 TaamR, 2016 T T * e s, -
o R e T e SR % 71,500 35,
B 31 TR, 2015 A e W@Waﬁmmarﬁmsﬁooww
4 T 6,000 ? |
0 Mﬁﬁﬂﬁw@miﬁr@ ?25,0003911?51?%[‘%'{3?‘1@#?&31%@
B W T 3,000 3
O R 2015 % R & 2wy
0 Wﬁm%mmmuwuﬁmﬁ@mmzmr@m
W1 T ey
' (0 Distinguish between normal loss and abnormal loss under process céstihg- 5

The f0110Wing is the Profit and Loss Account of Ahaan and Sons for the year ending
31st March 2016 - |

Profit and Loss Account for the year ending 31st'March 2016

3
: 10,000
To Direct Materials
. 20,000
To Direet Labour
| | 9,500
To Factory Expenses . o

| | . | , | | PTO f
é&x '
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5.20
To Administration Expenses 0
i S 3.80
To Selling and Distribution expenses 0
i 1,000
To Interest on Capital
3 1.5
To Goodwill written oft 00
To Net Profit 3.000
54.000
By Sales 50.000
By Work-in-Progress in hand :
Direct Labour 600
Direct Material | 400
Factory Expenses 300 1,300
By Finished Stock in hand - 0
_—_—_"-
54.000
————

Cost Accounts manual states that the factory overheads are to be recovered at 50%

of direct w, inistrati ing o
ages, administration overheads at 10% of works cost and selling and

distribution overheads @ Re. 1 per unit sold.

The units of product sold and in-hand were 4,000 and 257 respectively

Pr{fpare + 1. Statement of cost and profit as per Cost Accounts

2. Reconciliation Statement, 0

E——




T TEHT B M T wh W sy (Abnoma)y =1 # s =iy
| T :omafmmﬂmﬁamquammmm
31mé2016ﬁmaé%mm—aﬁm
4
Ty F | | 10.000
o 20,000
= =d 9.500
WIR & 39sag 5.200
Ee I S —— 3.800
T R — 1.000
e st W 1.500
— 3.000
54000
- 50.000
A wiy-wowd .
TEE 5 630
&Y Qe 400 00
ﬁ“ﬁﬁ g __?_?E__ 1,700
T2 T (Finished) whet @9 3 0
e

PT7
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iy

== 28T et wa § & Bagl Suied W@ﬁ%maw
«*@ﬁ&@ﬁsqaacﬁmmlowoamﬁm@famwmﬁm

39w ERA w g IR gy § A 4.000 991 257 o
7 | O e % feue § @ ol ey faeer s
2. §HYE {9 (Reconciliation Statement) |
Or
(3reram)
(¢) Distinguish between controllable cost and uncontrollable cost by giving example.

‘gl Distinguish between scrap and wastage. How are they treated in cost accounts ?

¢/ Explain in brief the Percentage to Direct Labour Cost Method and Direct Labour Ho

$

Rate method of absorption of factory overheads. |
(c) Wﬁ’mmaﬁwﬁamﬁmwaﬂml

@ T (scrap) 991 AGa (wastage) H 3= HIT | I% AF T J &3 fea

= m%ummmmmammmﬁfuaﬁ?waﬂqmgm
7

(4 | : ; in W
) How woyld you treat profit on incomplete contracts in cost accounts ? Explain ¥
5
€Xamples,
al 1s Activity Based Costing ? State its advantages.
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Gaurav Handicrafts Ltd. gives you the'following infOlTnation for its factory working 6
days in a week :
() Hours as per Time Card 48 Hours
(if) Hours booked to jobs as per Job Card 36 Hours
(i) Daily allowance for lunch, personal needs and fatigye 40 Minutes
(iv) Wage Rate per hour T 20
(v) The time not booked was due to breakdown of ‘machinery, power failure and

waiting for jobs.

You are required to compute idle time wages. How would you deal with such wages
in Cost Accounts ? 5
m%@mﬁaﬁﬁﬁmﬁquwwm%@ﬁﬁ ? AR W
oSt st e Sre wn % ! TWE Al w1 wif
@Wﬁammmmmw&mﬁmﬁmwm
) T e & fgm @ w2 48 =2
W T FE (Job Card) & Foum ¥ SRR 36 =
W) R & o, e S o R R 40 e
) W H g w ¢ 20

) T i T @ o W s st o S S e
TR farg (booked) TF | '

%mwﬁmmlmmmﬁw””ﬂ |
W

P.T.0-
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Or
CLED,

(d) Vaani Flecronics (P) Ltd gives the following particulars relating to Process A in ts plg

for the month of December 2015 :

Work-in-progress {
(Opening balance) on 1-12-2015-500 units : Material 4,800
Labour 3,200
Overheads | 6,400 \
| 14,400
Units introduced during the month — 19,500
Processing costs occurred during the month :-
Materials T 1,86,200
Labour | 72,000 .
Overheads 1,06,400 Z 3.64.600
Output : -
Units transferred to Process B 18.200 {
Units scrapped (completely pfocessed) 1,400
400

Work-in-Progress (closing balance)
[Degree of completion : Materials 100%, Labour and Overheads 50% ]

Normal loss i ing i : '
in processing is 5% of total input and normal scrapped uni®

fetch Re. 1 each,



(19 568
prepare the following statements for Process A for December 2015 -
() Statement of equivalent production
(i) Statement of cost
(i) Statement of evaluation
() Process A account 15
i A SR () RRUEGHR T A%maﬁamﬁwaﬁmm 2015 TE
# Fefefen e 2y ¥ .
-3 - epref
(R ) 1.12.9015 500 3T :
REb 4.800
L 3,200
e 6,400
14,400
—
e & SRH TRfeg (Introduced) & - 19,500
T % I BIEI T
Esieab)i T 1,86,200
5 72,000
T 1.64.600
It 1,06,400
1.0,




£ (Output) : ‘\.
e B W1 e oAl 18,200}
sFEal geEd (ofd: WiERARA) 1400 f
qfa-H-we (e 9) 0 c
[yefer = feft : WAl 100%. 99 T f=r 50%] B
ofFa & WA @t e ST (Input) FT 5% T HHTH e (Scrapped) WM
Re. | oI & feEmE ¥ W@ I T | I\:
mzolsammA%ﬁmfaﬁaﬁﬁawmﬁ: (M
() uwerel (Equivalent) StIRT =1 Terar j:
(i) @nTd fe | | b
(iil) oA Taao : _
(iv) WhpaT A 1 T | :
RN
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1. (a) Distinguish between economic growth apg eCOnw 0 Di
development. . mﬁﬁ
(b) What factors were responsible for the €Conomj, Criﬁ 2 7T
of early 1990s in India? 0
OR (ﬂ :
(a) Explain Human Development Index as a measur @)
economic development. (7§
(b) Discuss the broad objective of Economic Planning What
India. C I
() i gfe ve e fawm & @9 9 &R 1 | podu
(@) wRa ¥ 1990 & IRF T = arr%a‘—ﬁr@%"
FT-AM/F FRF DR a1/97 Exple
Indiq
STAdT Gove
(=) mﬁaﬁm%m%mﬁwﬁmwﬁﬂ Wy -
EAI1od ¥ =
(@) “wra ¥ AF AT B e e qr o= AT
i ~:
2.  Explain objectives of land reforms in India. What a° {0l ;:ﬁ
Maln reasons of failure of land reforms (> é




A0

I

)piscuss the causes of unemployment in Ingig (7.5)
nQ (

WWWW%?

(7 | =AdT
(ﬁ)mﬁmmﬁ%mwé?ﬁaﬁml
" (@)mﬁmﬁ%wﬁﬁﬂﬁﬁml

ﬂg'. what are the causes of low productivity in agriculture sector
in India? Discuss the measures to increase production and

productivity in agricultural sector. (7,8)
OR

Explain the main components of agricultural price policy in
India. Critically examine agricultural price policy of

Government of India. (7,8)

¥ w5 A ¥ BT SaEEd @ FRO 37 EHY &
¥ JRET R SEEA Sen 3 ST s i

JAdl

Wﬁmmﬁﬁﬁwmﬁmm'mm

ince 1991.
(7)

p.T.0.

: i licy s
- () Explain the major changes in Industrial poiicy
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|

structure during the period of planning? Discygg T
)

(b) What changes have taken place in the i
Ust

OR

Discuss the role and performance of public Sector |
- l

India. (15]
(%) Siehfie AR A 1991 F @ & T IR A i,

(@) Ao sEf & IRE SR G F R g
™ i

AAAT

WRA ¥ AEoh 8 S T 3K YeE @ A

“The position of balance of payments has been satisfactof} -

since 1991°. Highlight the role played by ‘invisibles’ ool
(13

‘foreign investment’ in this regard.

OR

a . 1’
Discuss the salient features of new trade policy since 19195)
(

. Lord
1991%313%37131?-%&3%@%%@%1%@
TG SR FRA FRw ew frerg g sifte SR AT

SAAr

f
1991%m%ﬂiwﬁﬁaﬁ§@ﬁﬁwﬁﬁﬁﬁ}
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i tures of
(a) Define public goods. What are the primary fea

Hlure? (8)
bublic goods? How do they lead to market failu
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(b) How does “Vishesh Krishi Gramudyo

‘ g }’Ojana
the export of agricultural products

(m)maﬁsﬁﬁmﬁaﬁmlmi

wmﬁa?ﬁ%wwwé'?amﬁﬁﬁm%
YAR 9 27 3,

Outline the main provisions of Industria] (Developy
Regulation) Act, 1951,

OR

(a) What is the classification of enterprises accori
MSMED Act?

(b) Discuss the Provisions of National Board for

Small & Medium Enterprises (N.BMSME)“"&.,V
MSMED Act, 2006,

AR (Rrapry SR fafrans) SR, 1951%3‘;@w |
Fﬂmma‘ﬂﬁm
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(@) ¥, =y ﬁ?mmﬁm Hitrfor 2006 B g
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= HRm)

- Explain the poljgjeg related ¢, EOU/EI—ITP/STP/BTP
Schemes? (1 5)
OR

- What are the Causes of ]

langes in excl

1ange rate? (13)
iﬁ@/&m&ﬁ. REER, s HAs AR D W Sy A
arerar

). X - i and supply of
(b) Explain the effgct of change in demand o
. t:C’rei_gn exéhange_ on exchange rate.

OR

~ to
‘ 9 with respect
St_até the provisions of FEMA Act, 19: exchange (15)
| Calisation ang tepatriation of foreign e

_ Fopdt IR
%) -t < e g % A B

P.T.O.
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(@)

()

(2)
aoft w9 Hifo K

MM%WW%I
U SR H ST 6

Enumerate the practical difficulties involved in instal;

1

Journalise the following transactions under the integ|

a costing system in a manufacturing concern,

accounting system : | )

Rs.

()  Raw materials purchased (50% on

credit) o 3,00,000
(i) Materials issued to production | 2,00,000f
(iif) Wages paid to worker B 1,000
(v)  Factory overheads'incurred ; 400

(v)  Factory oveérheads charged to

production 50'000

(vi)  Administrative expenses allocated

to job "
(vii)  Finished goods at cost 20 0’000 \

(viii) Sales (50% credit) 3,75’000 %’
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; (aﬁ)mgﬁgﬁﬁm—ﬁmm@wﬁa
ﬁﬁﬁmmﬁmﬁﬁ@
I |
(@)gﬁmﬁ@wmﬁmﬁﬂﬁﬂf@ﬂ
S W wHe # wfafe HieT
Rs.
@) F= HE EliEl (50% JHUR) 3,00.000
) TR & few we SR fE 200000
iy FHEE H AegRar & 100,000
(v) HE Iufema fey e 40,000

v) el Iufemdl @ SwRd H

3'5"*.' T 50,000

vy e % foau swefea wemafasw

LCi| 24,000

(vii) T ) AR A 2,50,000
(viii) TasBt (50% SUR W) 3,75,000
PTO.
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(4)

Or

(31

()  “A good system of costing must place the Same emph

on cost control as on cost ascertainment.™

(b)  The following Profit and Loss A/c for the year engj,

31st March, 2015 has been extracted from the books ¢

Comment. 6

ABC Ltd. : 9
Profit and Loss A/c
(For the year ending 31-3-2015)
Particulars Rs. Particulars Rs. |
To Direct materi’al 20,000 By Sales 45,000 ’
To Direct labour . I0,000 By Work in progress _1300
To Factory expenses 9500 By Finished stock in
To Administration hand 2,700
expenses 5200 By net loss 2,00
To Selling & dis\tribution-
expenses 3800
To Interest on capita| 1.000
To Goodwily Written off 1,500
D —_
—_— 51,000
\

51,000



(3) 3078
Cost A/c manual states that the factory- overheads are
to be recovered at 100% of direct wages. Administration
overheads at 10% of works cost and selling and
distribution overheads @ Re. 1 per unit sold. | The units
of product sold and in hand were 4,000 and 257
respectwely

Prepare

(1)

Statement of cost and profit as per Cost Alc

(2)' Reconciliation statement.

(%) "o ko = s o= Ul w1 ar e

mm%ﬁ%r—déﬂmﬁmmﬁw
FE W ’Femﬁ SifeTu |

(=) frefafem ey iR w1 S 31 94, 2015 1 go@

W & fom apc fafiee & w9 frehfg
v mn ® .

(31-3-2015 & WA gL T F O
\ 5
%lam | % faator N
QF%T T 20;()()() Jﬁﬁ SR
( | PTO.
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g 10000 T IR & -
0

S5 = 9,500 ?ﬁmmamaﬁ -

TeatTE =14 5200 T =ity . 20 |

ﬁmmﬁﬁm'@% 3.800 |

T;,ﬁqzaqﬁ{ 1,000

I F §2 @ BT 1,500

TTa orer T § foren ¥ fp dadt SuRed |

S TIY AGREA § q 100 WEe! age fHar S

¥ | geEiTE Sufterl B wrfvmen ar R
qa faen suferd 4 s 1w wf gfe fE

aﬁazﬁﬁmm%m%aqamﬁﬁ%'m
® o T IR ol ww § qfe s 4,000 I |

257 %1
TR wifsw .
(1) Y R T F FoE, Ar 9@ B I

Q) FEYM $99)

1



(b)

()  What is economi

Ay .. o

3078
n a factory working six days in a weey a worker ;
’ €r is paid

at the rate 0F Rs. 200 per day basic Plus DA gt 1
%

of basic. He is allowed to take 3¢ Minutes off qypi h
ring his

8 hour shift for meals bregk and 10 minutes rece f
ss for

rest. During a week, his card showed that his time
was
chargeable to :

Job A 14 hrs
Job B 10 hrs
Job C 12 '.hrs

The time not booked was wasted waiting for a job. In

cost accounting how would you allocate the wages of

the worker for the week ? | 6

Vani enterprise requires 90,000 units of a certain item

Rs.3, the hase
annually. The cost per unit is Rs. 3, the cost per purcha

. i t Rs. 6 per
order Rs. 300 and the inventory carrying COS

unit per year : :
order quantity E

P.TO. -
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|

(ify ~ What should the firm do if the supplier offe 3
S i

|

discount as below, viz :

Order quantity Discount
4500—5999 2%
6000 and above 3%

(%) e # 5: f7 W A W S g
ﬁzooﬁ.uﬁﬁwaﬁtmmqqﬁéww.
ST H 120% A ST ¥ I 8 U W U A
G M & faw 30 fie &7 sty faemar 8k
W % o1 10 foe =1 oo firerr &) w9 T
3 FE G e ¥ woe wwg 59 TR |

SRS

ST A 14 52

S B 10 T2

RALS 12 52
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(i) HH I F FET AR AR TR 1
T EY § oW 3 F yRe wa T oo

mﬁﬁfﬂm ST

[~

4500—5999 2%
6000 3 THH HIW | 3%
Or |
(are
(@) The following panipulars apply to a factory where X, Y
and Z work :
. -Normal rate per hour -

Standard output per hour
P.T.O.



(10) 307
In order to produce 200 units, time taken wag as fOllows
(in hours) :
X 20 hrs
Y | 30 hrs
Z 40 hrs

Calculate earning per worker under Halsey premium

System and Rowan premium system. 6
(6)  Distinguish between

(1) "~ Perpetual and periodic inventory system ;
|
|

()  Bin card and store ledger account. 9

(F) @%w,ﬁnﬁxmaﬁtzmm%ﬁmﬁrﬁaﬁ |
foeror @y 2 ¥ .

U R 9fy ey %
U S A ey s |
200 T AW FA oy gt
(& #) . f
X 20 H& v
Y 30 ¥R
Z . 4092
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s i TEfa 3 Jem W Tsfi & ST
afq safed 3E 1 dRehe HifsT |

s ST
() uda iR ored moRE womel
Gy T wE IR WER OSR @l

Define activity based costing system. Enumerate its

. special features. 6

(&)

The following annual charges are incurred in respect of
a machine shop where the manual labour is almost nil.

There are five identical machines in the -shop. Cost of

each machine is Rs. 3,20,000 and the residual value after

- the expiry of the useful life of 10 years is Rs. 80,000 :

()  Power consumption p.a. as per
meter reading (Each machine uses
10 units of power per hour @

Re. 1 per unit) Rs. 60,000

(i)  Repairs and maintenance for five

machines p.a. ' Rs. 60,000

P.T.O
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(iii) Rent and rates for the shop p.a. Rs,240000
(v)  Electricity and lighting for the
Shop Rs. 24,099 -

(v)  Supervision : two supervisors for the shop |

salary being Rs. 10.000 p.m. each

(vi)  Sundry supplies such as lubricating

oil. cotton waste etc. for the shop  Rs. 20,000

(vii)y Canteen expenses for the shop p.a. Rs. 12,000

(viii) Hire purchase annual instalment
payable for the machines including

Rs. 6,000 as interest Rs. 25.000

You are required to compute the machine hour rate. 9

(%) dfsraar onafiq amma fufor gomedt &1 R
T st faew faforearstt 1 seor@ HIfC!
(@)@Wmﬁmm@a@a%aﬁ
M oM e vy &) v § ur o
W E1 A% WY # @ 320,000 F & I
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Ioaaagqaﬁsqﬁwﬁaﬂgwﬁﬁmm
& e 80,000 - T

(i)

(id)

Hex dfen & ogER gidad
faorelt W1 @ (A% HYH
gfa "o 10 gFe foset =
i A % fEE W 1%
ufd e ®) . 60,000%.

g wEiEl S gfa o™ Tl
IR TEEE W T

60,000 .
iy 9fa e gfa o« & faw feRn

M R 2,40,000 .
(v) TN =% fog foswel iR v

Wl oHEEdl 24,000 .
(v) Ydagm : A ThdagE gia ¥

TSS9t 999 10,000 . UF H T
vy wig =% fou fafay gl S

qerehfn de, ¥ W W oI 20,000 F.
(viiy 9 & ufqg o Hem wH 12,000 .

P.T.O.
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g
(i) TR & U fvwmn adg «
T iftie fova ool =9 =
6.000 . e ¥ is,oooa‘ |
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o
(3Teran)

(@)  XYZ Ltd. which absorbs overheads.at predetermined

- rates provides you the following information :

Overheads actually incurred Rs. 2,00,000 :
Overheads absorbed | Rs. 1,56,000
Goods sold . 13,000 units
Stock of ﬁnished goods ' 10,000 units
Stock of work in progress 10,000 Uﬁits

(20% complete)

, . e Jevels:
Unabsorbed overheads were due to rising price lev

st
K ) . Cob
How would under absorbed overheads be treated ID

accounts

6

? Give Journal entries for the same.
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#  Explain the following items and state how you would

deal with them in cost accounts :
() Interest on capital
(if)  Spoilage of material

(iif)  Fringe benefits. 9

(&) XYzﬁfTFqé@ﬁﬁHTmi‘@awa%@m
S gt @ W et w o
T \

S g ¥ fpn o 2.00,000'5.

1 Ul ® Evitd % fern T 1,50.000 5.

A& fawt fwa T 13,000 T2
| TR W W =i 19,000!1131%
FE TG W H R 10,000 fF3
(20% ‘Lﬁ T )
AERN ST I & e U RR & FHRoy

e

1 A9 TN e B 30T STeNnea e &)
3% et 7 e o e e A,

P.TO.
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W%mmwnﬁﬁﬁm

() Y W
(ii) quﬁ ch '@’T
(iif) SO ey |

Raja Transport Company supplies the following details with

respect of a truck of 5 tonne capacity

Cost of truck

Estimated life

Rs.

10

Scrap value of truck after 10 years Rs

Diesel, oil, grease etc.
Repairs and maintenance
Cleaner’s wages
Driver’s wages
lnsurance

Tax

Genera] SUpervision Charges

Rs.

Rs.

Rs.

Rs.

Rs.

Rs.

Rs.

10,00,000

years

. 40,000

200 per trip each way
5,000 per ménth
2,500 per month
5,000 per month
4,800 per year
2,400 per year

48,000 per year




T .
’ -

(17) 3078

The truck carries goods to and from city covering a distance
of 50 kms each way. While going to the city freight is available
to the extent of full capaéity and on return 20% of capacity.

Assuming that truck run on an average 25 days a month, work

out .
()  Operating cost per tonne km, and

(i) Rate per trip that the company should charge if profit

of 50% on freightage is to be earned.
TS A HTH ST 5 T & A TH TH B AR
i Frefofan awdel e wad ¥
<% H AN 10,00,000 T.

TE ey oad

10 917 &g o A1 ! HTI 40,000 T

S 200%. Rt W e T
Wy iR TEEE 5,000 5. wft e
TR w g | 2,500 T. fd #TE

P.T.O.
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5,000 ©. yfg oIS

4,800 T. 9 o9

2,400 T. 9fq a4

48,000 . i ad

o T T S0 Bl F g0 W A F e o
aﬁmmm%lwaﬁaﬁwiﬁwﬁ
feqre ¥ ITeT Wl ot € SR A H e & 20%

F1| 7% TER 75 oF UF W § o 25 fe =@

T U@ @R

¢ 9fg A Tl g=eE AT

(i) qﬁW“@WSO%WaﬁmﬂTﬁ?ﬁ%?ﬁ
S 3 9 B feE @ @ e o el

Or

(31g=)

. P . aCtS»
MG Construction Company is engaged In two contr

contract number 501 and 601 during the year 20

(6. The




( 19)

following particulars are obtained

31st December, 2016 -

Contract 501

Contract price

Materials issued

Materials returned

Materials on site

Direct labour

Direct expenses

Establishment expenses

Plants installed at cost

Value of plant (December 31)
Cost of work not yet certified
Value of work certified

Cash received from contractees

Architect’s fees

3078

at the end of the year

(Rs.)

3,00,000

80,000

2,000

11,000

75,000
33,000
12,500
50,000
42,500
11,500
2,10,000
I 89,000

1,000

15

Contract 601
(Rs.)

250,000

30,000

1,000

4,000

21,000

17,500

45,000
42,000

5,000
67,500

62,500

P.TO.
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During the period, materials amounting to Ry, 4,500 pyq, b

transferred from contract 501 to contract 601. The daf
. e Of

commencement of contract number 501 is |st April and conty
ac

number 601 is Ist September. You are required to shoy :

() Contract accounts, and

(7f).  Extract from balance sheet as on 3 1st Deée'mber, clearly
showing the calculation of WIP. -

MG FERA HI o9 2016 T Q) Gfrersii @iy g 5o, ‘

IR 601 R HH F @ &1 31 fewmr, 2016 % 9@ T

o

N % frefafed frawr wm go §

. dfaar s01 ofaer 601

&)  (7)
SIESCIE 300000 250,000
R W o 30,00 30000
T S & g 2000 1000
I A5 W) 11,000 4,000

R L 75000 21000
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T g ® 11500

gAId w1 & Hed 2.10,000

HiaaiE @ 9 A6 1,89,000

3078

17,500
3,500
45,000

42,000

5,000
67,500

62,500

3 stafe Foe T 31 GRE WA 501 F TE B A
mlaﬂﬁ%aﬁ?ﬁ%ﬂﬁméma’ﬁlﬁﬁm%lm

P.T.O.
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Find the equivalent production from the lbllowingd
dta

under FIFO method : "
)

Opening work (0 progress 2,000 unigg

Degree of completion :

Materials 80%

Labour 60%

Overheads 60%
Units introduced | 8,000 units
Closing'work in progress | 3,000 units

Degree of completion :

Materials 80%
Labour 60%
Overheads 60%

Ass
ume there are ng process losses.

The pr
, Product of , manufacturing company passe®

through '
8N two processes x and Y and then to finished stock

account, |t ;
. [ ,
S ascertaineq that in each process normﬂ”y

P -
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5% of the weight of the output is lost and 10% is scrap,

which from process X realizes Rs. 80 per tonne and from

process Y Rs. 200 per tonne. The following data is available

relating to both the processes for the month of December

2014 :

Materials in tonnes
Cost of materials per
tonne (Rs.)

Wages (Rs.)

Manufacturing expenses (Rs.)

Output in tonnes

9

Process X Process Y

1,000 70
125 200
30,000 10250
6,000 5,000
830 780

There was no stock or work in progress in any process.

Prepare :

() Process accounts showing cost per tonne of each

process.

(ily  Abnormal loss/gain account.

P.T.O.
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(mﬁﬂf\—ﬂf@ﬁa"@@ FlFOﬁfH%ST'aTh%
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s @ TR A 2,000 7
qofar &1 e
ar . 80%
- | 60%
ERItEp . 60%
e {F—ré | | 8,000 qfTe
st w9 Wit w 3,000 |
Uil i HIS -
T | |  80%
T |  60%
3y 60%

Waﬁ%mﬁ%‘cﬁmﬁﬁsﬁqﬁ?%'
(@)Wﬁmmﬁmmxﬁvmﬁwﬁ
3 TN ¥ o wm Yo ke o & W E
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WWWWW%EWH&Wﬁ
W:WWS%WW‘@W%W]Q%
@ém%%ﬁ%mxﬁsoawﬁaﬁr{

TR Y /200 . Hﬁaﬂﬁa%ﬁm%lﬁﬂm

7014qma%%rqsqﬁmaﬁﬁwmm,
ﬁwl%ff@a%

| 'mx Ufckary
e o o
W?ﬁwuﬁa(a) 125 1200
Tt (v) 30000 10250
= () o s
Wl?ﬂ?ﬁﬁ - 80 780 .

ﬁ@gﬁmﬁﬁémmmmwﬁ
q0|

R Wi
() wfman Jren fored wew FiHAr A wi
=7 yafed e

(i) STETHIOT /e e
P.T.O.
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Or

()

(a) What is job order costing ? What are its speciy|

features 7 Indicate at least /wo industries suitable for jo

order costing. 6

()) From the following information prepare a statement

showing the cost and profit : | 9
(1) Opening Closing
(Rs.) &)
Raw materials 30,006 36,000
Work in progress 31200 38,400
Finished g;)Ods 200 units 1,600 units
@ Rs. 84 p.u.

{

(i) Purchase of raw material Rs. 1,88,500, car riagt of 1

purchases Rs. 2,500 and sale ofscrap of raw ma‘erial

RS' SaOOO.

(iii) Wages Rs. 2,97.000
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() works overheads are absorbed @ 60% of direct

Jabour cost.

v) Administration overheads are absorbed @ 12 per

unit produced.

(vi)  Selling and distribution overheads are absorbed

@ 20% of selling price.

(vif) Sales 7,600 units at a profit of 10% on sales price. |
(%) it AR ArTa-fAuito w1 @ € 2 suet 5=

a9t =1 € 2 HH-Q-%9 I A ! Fqsy

S Site smewl wrra-fauitor & few sugw €

(@) frafafea gemel @, arma ik @ &1 5
W L HIT TR B

() - YR 3Afew
() (%)
=1 T 30,000 36,000
F4 Tl | ® 31,200 38,400
— 200 gf1E | 1,600 gF1E
g4 T W AT
R

P.T.O.
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(v)

(vi)

(vir)

(28 ) 7g
®ed 06l 1 @R W g8 500 & R
B A T W 2500 5 3l TE1 ) 18

fast A 5000 5 urg BU |
91 2.97.000 %, |

P F ITNER gy A A & 00, 7
Wﬁﬂwﬁﬁa?ﬂfﬁmw%;
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: . |
. (a) Atwo industry input-output relatlonshlps Are given bew1 !

_ 0
) i v
Consumption Final Grog nc

1 [ Demand Ouy

I 16 20 4 F\40*

I 8 40 32 80 |

T —

Labour day 80 120

Using matrix notations, determine :

(1) Gross output required to satisfy the new fin

demand of 18 units and 44 units for induste

1M,

and II respectively. 1
thre

(i) Total Labour days required. Say

Ty
)]

(1) Equilibrium prices if wage rate is T 40 per Labd h)

day. d n

OR "
i

A firm produces three products P, P, and P, processt. e

on three machines M, M and M, before wmplctl*

M, can process 25 units of P, or 50 units of P, or !

units of p . per hour. M, C

one product pey hour, M ¢
UIHU&

an process 50 units of 1

|
an process 50 or 25 O |\

er ho . - el nl‘
p ur of products P\, P, and P, respectt "

\nd

\



|

. rocessing hours available on machines M
n be]ﬁ The p

1 M2 and

M, are 12, 12 and 13 respectively, Using matrix
|

potations, find

() How many units of three Products cap be
produced per day ?

(if)

The production cost Per unit, if costs per hour of
Operating machines M, M, and M, are

< 500,
¥1000 and % 1500 respectively.,

(i) The total cost of production.

(8)

b My, X has investeq X 35000, that he had divided into

three investments. Part of the money is invested in a
%aVingg account with an annual return of 6%, partly in

N the business, his net income from all the three

Westments ig 7 660. If he invested ¥ 3,000 more in the

i
b

Usiness thap in the savings account, how much was
Mvested iy, each. Use matrix algebra. 4)
OR

Manufactyrer produces three products X, Y and Z
Which he sells in three markets I, 11, III. Monthly sale
d g5)¢ prices are given as follows;

P.T.O.
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9
Market Items Sold %
3 4 ,
Z X
(X Y N
I 1000 1500 2000 200 300 o
I 2000 2800 3000 250 28 |, ,
1
2.30
m | 300 3500 4000 ) L oy
If the cost per item for three products X, Y, andzy
71.80, £2.50 and ¥ 3.40 respectively, find by ma P,
algebra his total profit. ( -
(%) @ Ia B srr - i & we @ A R
—_ W
@ud et o
I I W | I
I 16 20 4 4
II 8 40 32| ,/80
o fa 80 120 |
R AT T ws FeiRa AR
- . i
(i) o S@wr | ok 11 & o 18@33?443;31“)&

&t =E g i A ofd @ forw rgEad g |

(i) = samEs s fRag

(i) qﬁmﬁﬂwﬁwﬁwﬁw%a‘rmﬂﬂm

e -2

4



oAt

@tﬁ‘ﬁ Pl,PZSﬁ'{P3Wﬁ?3?Tr€TaﬁMPMzaﬁ.{M3
mﬁ?ﬁ‘ﬁ“@mﬁqﬁmﬁm%mlw
p I 25 AT T P, Y 50 Y srrar P, Y 75 gy
# R g HR FW FEA 1 M, T R v e
# 50 TS A Ui T dAR o g 2 M, ¥E@T P,
P, ¥R P, SEUI S A 50 A 25 A 100 IS A AR
W EHA B | WM M, M, 3R M, W wikar & forg s
12,12 3R 13 ¥ Iuerr ¥ | A AT w AT Fh

A G |

500%, 1000% 3R 1500 = 2

(ii) et Seamed @NTE T AT |

%) freex x 350003.1%%@%%@@@@:?
*ﬁwﬁam%mﬁmwmmmaﬁaﬁm
%ﬁfﬂ%aﬁmqﬁmé%ﬁm%,mmm |
IqET are drel A aﬁtﬁqaﬁmﬁmﬁml 2015 ¥

¥ e B
Vg I @ A co, < T gE @ I T
p.T.O.
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S o | 99 IFE I AR A | 660“6.3?;1%&@
gﬁﬁ\uﬁwﬁmﬁﬁﬁwwﬁ 3000 &

ﬁwmﬁamﬁwﬁmﬁmﬁ-&amlww'

S w1 wEaRT bt
1 hoL

Sroxat <hing

1 hov

wﬁﬂhXYﬁizwﬁwwﬁmméwcon

unit

ﬁlﬂﬁ?ﬂlﬂéﬂ%lgﬂﬂ%ﬂﬁﬁﬁﬁﬁ?ﬁﬁ?——

I fou 2 T!
e faght B |
X Y 7 W (X y !
1 1000 1500 2000 200 300 .
1 2000 2800 3000 2.50 280 :
0
I 3000 3500 4000 _ 230 0

uﬁuﬁmXYaﬁtzaﬁmﬁﬁ?ﬁ‘aaﬂ:ﬁ
1.80%, 2.50% 3R 3.40% ﬁrﬁrﬂﬁwwﬁﬁgﬂ

HA AW A BT | A

It

§ M Te
(a) A firm manufacturing office furniture Pro é Tl
following information regarding resourc® cons* My

and availability and profit contribution : fq




Usage per unit Availability
Tables Chairs  Book case
8 4 3 640
4 6 2 540
1 1 1 100
30 20 12

The firm wants to determine its optimal product mix:

(i) Formulate the LPP and solve with the simplex
method.

(i) Find the optimal product mix and the total

maximum profit contribution.

(iii) What are the shadow prices of resources ?

(12)
OR

A firm produces three products, A, B, C using three

1 ours).
fesources (material, machine hours and labour hours)

The manager of the fir™
y using

wants to find out the best

Prod trategy. B Simplex technique, the
uction strategy-.

ined.
following solution Was obtai
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c > 30 40

10

BV X X, el

S, 1/2
S, 3/2
S, 5/2

(i) Do you agree that t
y ? If not, improve the solution to gett

strateg

best production strategy and indicate

quantity of each product should

(ii) Are all the three products pro

why ?

(iii) Are all the three resources completely used”
9

not, how much of which resource is u

v
(iv) Can there be an alternative product

1
0
0

3/2
~1/2
1/2

0
00 g
S1 S2 S3 QM“J@
1/2 0 0 gl—
~1/2 1 0 5 M)e
o -
42 0 1 3 m,ﬁ
his is the best productifhop:
final

how mudk

be produced. -

duced ? If ”?

I

nuSed '

mix wh

gives the same total contribution ?

(v
) What are the marginal worth of the resov

(vi) W
) What happens if 15 machine hours 2 ° W

9
e

st i

to so i
me mechanical problem ?

(b) A fir
m a
ssembles and sells two different typeT

SQ.

Outboard

moto

Production pror, A and B, using four resources'
Cess can be described as fOllOwE':



Capacity per month

400 Type A or 250 Type B units or

any linear combination of the two

175 Type A units

225 Type B units

200 Type A units or 350 Type B

units or any linear combination of
the two

Type A units bring in a profit of 90 each and type B
units ¥ 60 each. What should be the optimum product
mix ? Use graphic method. (6)

OR
Obtain the dual of the following LP problem:
Minimize, Z = 5x, + 10x, + 15x, + 12x,
subject to the constraints :
2x, + 3x, + 7x; + X, > 50
X, T Ky By T 45

—Xl —+ 4)(2 + 5X3 < 30

; | tricted in sign.
X5 Xps X3 > 0; x, unres g

(6)

P.T.0,
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!
— ?Wﬂﬁq&mmﬁaﬁwﬁ TR
[T@Tmﬁm%aﬁ%ﬁmﬁﬁaawﬁ

ST
AR AR T
(o &2 8 . : o
e ‘
k2] ) p ) 54
Jard fasm 15
(et ) 1 1 ! !
N ¥ qNeH ‘
Hﬁf'qﬁ'c' 30 20 12/

o aﬁmmﬁamﬁuﬁwmmﬁ
(i) LLP =1 g sifom aﬁzﬁwﬁwﬁﬁf%ﬁaﬁm'

(ii) WW&HW@WWW%
HY |

(iii) wEmee & vy Y T B 7

) "

e s
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@ 7 A B C 99F 99 IJA@ F 9T qEUR
A e FAR A 2 (amRl, WA BT 3R o e |
1 AU qATTA IEA WA FIG e =ea € | et
mammm%ﬁmﬁﬁaammﬁww:

¢~ 30 40 10 0 0 0

X X, X, S S S wm
1 3% 12 0 0 4
o0 -2 -2 1 0I5

512 0 12 -1/2 0 1 35

(i) = 3T o e & R 08 qed S Seed R
2 ? IR 98 A T I WHIY W FE & fog

T g IR SRy e S @ e
A I R W AR |

(i) = Y S e FOR e i ¥ 7 Al S @ o 7

(i) o 3 G daee OQ TE wW A o0 A T 7 AR
A TF A H A W SIS S W@ R 7

& Fw dnee a0 ¢ 7

(v) wammr = @ S T 7

"PTO



(vi) =1 B R Q%ISWEI@'ET[WE\’
T FOFRO, IER TS | |

12

R

(=) qmtﬁﬁwim?ﬂmmAaﬂTBmaJ
%ﬂw?maﬁ?ﬁzﬁmma‘(‘cﬁ%ﬁvm
IR WiHAT T TH YER a9 o Gy 2

gHAT Ui A8

400 2159 A ar 250 T4 B 7
qr 39 eFl & fndar Waw @

29 A AT 3:{\17 ;:I%EI
I FaTU=

175 er=ga A g

7Y B TR R g

225 7Y B g

39 FETa
e
AHE AT Hawe 200 2139 A g ar 350 T
e a1 g A @ T T
e warem I

T A T ¥ 90w @ few ¥ o A
T B Y ¥ 607w @ e A | g I
T A WY 7wk R @y @R |

STIdr
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frfeies LP ¥l o1 39 e iy

AR I Z = 5, + 10x, + 15%; + 12x,
W AR D oAy
2x, + 3x2+7x3+x4250
x1+x2+x4=45
X, +4x, + 5%, <30

X1 Xy X3 2 0; X, @A € W ¥

A firm acquires its annual requirements in 5 orders
of 1000 units each at present. If per order cost is

T40, irrespective of the order size, holding cost is 10%
of the avery

ge rupee inventory and the cost per unit is
4

100, find Economic Order Quantity (EOQ) using

Calcu]yg. Also find annual saving by switching to EOQ
System. (6)

OR

he Demang and Total Cost function of a monopolist
e p = 20 - 4x and C = 4x + 2 respectively. If the
OVernment imposes tax @ 20% of sales, determine

t i ble

the total tax revenue that the government will be 2 6)

0 Collect. | (
P.T.O.

4
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ions for two commoditj
(b) The demand functi | . Ities x  apg i
terms of their respective prices p, and P, are gy, by§
W |
here al’ a2, bl’

bi

b,p; +¢y

_ -8 Shta gnd X, = €
X, =P, c 2 P;
tants.
and ¢, ¢, are cons
|

(i) Determine the conditions so that the commogifg
are (a) competitive (b) complimentary. |

(ii) Show that the ‘direct’ partial price elasticities
of demand are independent of the prices,
while the ‘cross’ price partial elasticities of
demand are dependent upon price of one of the

7
commodities. (6i |

OR

A producer desires to maximize output (Q) His
production function is given by Q = LK where L and K;
are labour and capital respectively. His cost function
given by C = 4L + 10K. Using Lagrange multipi
method, find the optimum combination of inputs if the
Cost constraint is ¥ 200. o

(c) Find the Consumers’ Surplus and Producers’ surpl";
under pure competition for demand funct’

pd :1_2 and - 1 ] s l hefepv
x+1 pply function p =5(x+3), W
| (6)

Is price and x is quantity.



15
19

OR

After an advertisement campaign, the rate of sales of

a product is given by S(t)=1000¢5"

Where t is the
time in months. Find -

(1) Total Cumulative sales after 2 months;

(1) Sales during the 3t month; and

(i) Total sales as a result of the campaign. (6)

(%) T B W W W TS I A 1000 IR R 5 o
aﬁaﬁa?aﬁmaﬁnéluﬁw%mmmvs.%,m%
mwmaﬁéﬁﬁ,wmaﬂwww
& 10% » R 9l gfie @ 100 2 R oo w1 wEnT
X E sRw A= (EOQ) e =i | e & EOQ
YOI ST WANT ohieh aiftieh s=d ST I S |

Al

UF UHUeR & AW 3R ®A NG AT wa
P=20-4x 3R C=4x+2 T AR WHR ¥ | 20%
ﬁa%wm%ﬁw@mwmw
H gHa |
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(za)aa@aﬁxlaﬁzxza%ﬁmwaﬁaﬁmplsﬁw

a

& fog W W X, =p; ebh*e 3R x, =p,™ ebzpﬁczgm

7 B & el a, a, by, b, 3R ¢, c, Remisw &)

(i) maﬁwﬁuﬁwaﬂﬁwlmﬁaﬁﬁ (%) wiwr (g
W B |

(i) weRfa @ f T < woaer’ S weE
el ¥ w@aT Bl wEies AN A wE @i
M A T ¥ ¥ T A Fwa W R A
g1

(a)

AT

Ueh JAEEH J9Y I I JAerad (Q)EFFIT?ITEHT?'
T I ol FEd AW BT & Q=LK fored L
K %92 @ 3R ot & | Saer ang werT @) W o
B C=dL+ 10K ¥ 1 s o faer =1 i e PR
Amwmquﬁmmzooﬁgl
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HAAT

v T AOE & WE SR & R B w T
T S(t) = 1000 &% e t w9 & W& A | 79 v -

(i) == ¥ foeht 2 W' @
(i) TR W & R R R

(i) 3@ smEm & IRow @ H5a@

o
- (2) Suppose a firm has a production function x = [aL4 + bK‘] ’

where 0<a<l, 0<b<l. L and K are labour and capital
respectively. Find the marginal product of labour

and marginal product of capital and verify Euler’s
theorem. (6)

OR

A discriminating monopolist can separate his consumers
into 2 distinct markets with the following demand
functions:

Market 1: Q, = 16 - 0.2P,
Market 2: Q, = 180 ~ 2P,
Assume that the monopolists’ total cost function takes

the form TC —20Q 20 = 0., where Q is the total output.

P.T.O.
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Obtain the total profit function and determine the Priceg
he would charge in the two markets to maximige the
profit. What 1s the total profit ? Do you agree that the
price charged in the market with a higher elasticity of
demand would be higher ? Show by calculas. (6)

(b) At t=0, the annual world use of natural gas was 5
trillion cubic feet which is increasing at the rate of 10%

continuously.
(i) Find the total consumption of first 10 years.

(ii) How long will it take to use all available gas if
in the beginning it was known that world reserveq
of gas were 2200 trillion cubic feet. (6)

OR
)

oX _ Find

The elasticity of cost is given by €, :2(5x+9)

Z 18

the total cost function given that the fixed cost 1
(6)

(F) 7= < 5 v & @1 IereT we x—[ L4+bK4]ﬂ
? Wl 0<a<l, O0<b<l, L 3R K @ s o g 17
@ W I AR R B e g @ A Ao
TN Wa = weafig S |

3314

-
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JTra

7@ NEEH THNUA SO ITHEAR B 2 g oy ¥
ffoiad AT G @ WA YA w e R
aem 1: Q= 16-0.2P

SR 2: Q, = 180 — 2P,

A Y fo g &1 e e TC - 20Q - 20 =0
HE A A B Wel Q A IUE B | el o ot GeqT
FRT IR T T IF I D PR T A TER A
W S T o FuiRe S | w5 o R 2w

TEAd ¥ Rr Saew WA A O S A o O 9l S
T B ? SeaeE BN Ve S |

@) t=0 2% v s w R ¥ At A 50 R
™ He o 9 AR 10% B R ¥ @ @ P

(i) wesr =g @St @ He @O AW BT |

(i) e Sqer A A A a T A e
oz war of 5 feE ¥ e Rl 2200 feferm w7 ®C

R

P.T.O.
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5. (a) A moneylender charges interest at the rate of fiye paig

- rate of interest does he charge per annum ?

20

A W AT T W A F e, =— X

\

2(5x +9) afe Pmi)

ANE 18% B W HA AR AT A HiRw

per rupee per month, payable in advance. What effectiyy

)
OR

If the present value and amount of an ordinary annuity
of T 1 per annum for n years are ¥ 8.1109 and ¥ 12.0061
respectively, find the rate of interest and the value?

n without consulting the compound interest table. ()

| .
(b) A house is sold for Z 50,000 down and 10 semi-annis

payments of ¥ 5,000 each, the first due 3 years hence:
Find the cash price of the house if money 18 worth 20%.

(5)

per annum compounded semi-annually.

OR

nd
en
A person borrows T 12000. He pays ¥ 4000 at thew r
of 6 months and Z 5000 at the end of one yeal: 0
g
final payment should be made at the end of 2 ye?

nd
settle the debt if interest rate is 12% comp?” (5;1
continuously.
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A machine depreciates at the rate of 10% per annum
) for the first two years and then 7% per annum for the
qext three years, depreciation being calculated on the
diminishing value basis. If the value of the machine is
710,000 initially, find the average rate of depreciation
and the depreciated value of the machine at the end of

fifth year. (5)
OR

A debt 0f ¥ 5,000 with interest at 5% compounded semi-
annually is to be amortized by equal semi-annual

payments of ¥ R, over the next 3 years, the first due in
6 months.

(1) Find the value of each installment;
(i) The interest content of the 5t installment; and
(i) The principal balance remained after 4th

installment. (5)

(Eﬁ)wmqsﬁ%uﬁrﬁuﬁmgaﬁa%mﬁm%tvﬁ

% et o B 21 A FE T W DX = W 9 D
27

KIC])

A T e ik wrewer A & A 1T 9 9§ o aut
* g e 8.1109 R 12,0061 & 3 @ =t 9 w sk
nWﬂ@,aﬁ%WmaﬁaﬁT%ﬁ,mw,

P.T.O.
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aﬁaﬁamﬁﬁ%mﬁﬁmw%ﬁwﬁﬁmm
3aﬁaﬁam%nmﬁﬁaﬁaﬁmma&&qqﬁm
& 20%wﬁaé%mwmﬁ§a:mﬁmm
foerar 2 % 0

ste

U A 12000 % 1 HOT AM 21 TB 6 AE A wiyyon
W 4000% T a9 &t @A W 5000% T I B D
T B WA e w e aike aif s e

e & S o whafe = W e € ¥ 12% 31 W
~ this
T T G T A A X 10% 9 A€ o w ¥ T g

T 2 SR R s R A ¥ 70, vy af 9w A, T Ay
T &1 IRbe SO e SR 9 fhar e 2 1 90 A0S
T F A I F 10,0007 3 & e @ gted @ An
ﬁﬁﬁﬁﬁ%w%mwﬁa@mm' o

2000%. =1 o, o W onfatite wv ¥, 59w A9 W

N2, Re. o ot s w379 0
ﬁqﬁsﬁmmésﬁmmgmﬁﬁaﬁl i

(i) m%ﬁaﬂq\mmaﬁﬁqy Ny
(i) et fore ¥ = o 'y
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1. (a) State True/False : (4 |

(i) ROM is a volatile memory.

(i) A network is interconnection of compytey tq
enable the users to share network resources,

(iii) A foreign key always uniquely identifies a recordi

|
. L
(iv) Chart created on the worksheet is called embeddei t

chart,
(b) Answer in one line :
(i) Define topology.
(i) What is folder ?
(i) What is the use of random sampling ?
(F) P @ & o1 e, g R %
(i) ROM v amoysier i 2
WW%ﬁmwﬁwmwwm%WW“
AT O A et
(iif) ﬁhﬂﬁﬁamaﬁwm:‘fww
2

(1

. 1
() e e e e @y g T



(i) IS M B R 7
(i) Yo ST W SR B 2 7

What do you understand by network topology ? Describe
three commonly used network topologies. (6)

OR

| What is a Payment Gateway ? How it works 9 (6)

Waﬁaﬁﬁ%mwm%?ﬁwmzww
T W iR |

JA2AAT

Wﬂﬁwm%?wﬁmm%?

How traditional file system is different from database
Vstem 9 (6)

OR

hat i operating system (OS)? Explain the types of
Qperating system based on processing capability. (6)

PT
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wwmmmmm%%m§? 0

Jrerar !
que}
s SO (OS) B & 7 ke mewo
wferdl @ e & SR iy |
e 01
4. What is DBMS ? Explain its advantages and limitatiop
OR ((neste
| : Atio]
Explain the following with example : (t
() Primary Key frue
(ii) Alternate key | { Wi
(iii) Secondary Key i . i
DBMS Edii ‘Eﬁm -é 4 , . | .
{ T W i e A e A
raT .
(1) s 90 W
1l .
(iif) i =9 | h
R
[ %
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1.

What is meant by € _filing of Income Tax Returng? e,

ulsory to file return on line?

it comp

OR
What are the benefits and limitations of e-Filing of Inc
Tax Returns? (§

s T & %- a@%%wm%?ﬁmw

e S a8 7
1
Jrerat |

mﬁw%%—arﬁdﬁwmaﬂt@m@w%’?

What are the due dates of submission of Income T

{

ol

| P

Returns u/s 139 (1) for different assesses ?

OR

Which assesse should use ITR Form-4 and ITR

for e-filing of the Income Tax Returns?

FafT o Pt & Ry om 139 (1)%31’?%13311?1“1%““@

R e il T 37

=Aqdr

For®® P
bl




(

ey
fo-s
N

(3

o

' What is the due date

3

| 3

Wﬁa—ma‘?é z@%%mmmﬁmﬁa@m
mﬁ4sm3qﬁmmaﬂ%q?

y explain the scheme of Tax deduction at source. (5)

priefl
OR

What is the amount above which making a payment as fees

for professional oT technical services ,
deducted at source U/S 194 J, and at what rate.

tax is required to be

(5)

@ammﬁﬁﬁﬁm#ﬁqﬁm|

Frran
ﬁﬂ%w%m%mmmﬁﬁaﬁﬁmﬁ%mw
%mﬁgﬂaﬁmﬁm,mwﬂa}aﬁﬁaﬁammaﬂ%ﬁ
mﬁﬁmﬁ%,aﬁmﬁﬂl

s of submission of quarterly returns of

DS from June 1,2016 onwards. (5)

OR

What is the amount above which making a payment to a
Contractor or sub contractor , tax is required to be deducted

at source U/S 194 C and at what rates. (5)

P.T.O.
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Gfrzona}ara%ﬁﬂwmmﬁwﬁﬁmﬁﬁ
fofer = 27 |

b’
1

ITAdT I
g

a5 I 7 2 T T SRR A ITERR F SR gy
gRT 194C & AT Aq R & ekl (Y S 3 Sawsma 3, o
2, 3R g X W

si€

5. Briefly mention five features of Service Tax (Lo

OR e

What are the due dates of filing the Service Tax Returr;_‘ W
A t
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: : » 5
I. (a) Define International Business and describe jtg feat, )8
!

trd

. . . JEX

(b) Why companies globalize ? Explain with Suitalg)E]
examples.

i )

OR |

9 °

A global business firm operates in an environment which
complex and multidimensional. Explain the main features

the international political and legal environment. (1 |
(1R

(@) =R T w R S R gae R ‘
U HIT | i

(@) Fwar = dedgd B 2 7 Wﬁmmﬁﬁmmm
lgry
JAAT liag

WWWWWﬁW@H%%%WWﬁ

IR 21 A T sﬁz%mﬁmmaﬂam
EEEGIACT Foll W

Yy

favor:
)
oY

b) Decer: - :
(b) Describe briefly trends in India’s foreign trade #W\

(4 al is free : T
) What is free [rade ? Give arguments 1n 1ts

OR



!
) Explain the product life-cycle theory of international
trade. (7)
) Explain the role and performance of WTO. (8)

;(a)ﬁww%?!m%wﬁﬁw.
V(ﬁ) w%ﬁ%mwﬁuﬁmé&qﬁwml
5 SRC

@) T R é%‘a?qn:'éﬁaa=:%ﬁﬁ'ﬁnaﬁirisrtnﬁa'aﬁﬁaq|

Woﬁﬂﬁmaﬁtﬁmmrﬂavhﬁﬁm

7&1 Distinguish between the international product structure and

international matrix structure. List the advantages and

15
lisadvantages of both. , 43)

OR

' ich
| What s outsourcing ? Clearly explain the factors whic

i i of its business
Wfluence a firm’s decision to outsource some

(15)
" "erations to an outside party.

| w@qmmmm@umﬁﬁmﬁw'
\ B R e g A g AR

P.T.O.




573

Irerar e

FrIcAaT (outsourcing) F B! TR W#%ﬁmﬁfm‘(i)
ﬁwmﬁﬁnﬁﬁﬁﬁﬁmﬂﬁﬁquﬁmw(@

(i)
4. (a) List and explain the different functions of the forei
(iv)

exchange market. (

oreign exchange risk ar
re in international financi

(

(b) Distinguish between f
foreign exchange €Xposu .
2

transactions.

OR |
)

ocess that passt
cled

(15%'

‘Regional economic integration is a pr
through different stages’. Explain the statement with

contemporary examples.
(=) ﬁéﬁﬁﬁmmaﬁﬁﬁﬁﬁmﬁwaﬁﬁﬁmﬁ {

(@) m@ﬂﬁ?ﬂnﬁﬁﬁﬁ%ﬁﬁﬁmsﬁwwﬁmw(”
@wt w (Exposure) @l 3 ECIECE 11

i
3rorat

Ilmmwﬁm%ﬁﬁ@mmﬁ@wm

%lvwmmﬁmﬁwaﬁ#aﬁﬁﬂ’l
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¥

_ Write short notes on any two :

() Environmental degradation

| (i) Indian joint ventures abroad

(i) SAARC

JS
( (iv) ASEAN

(15)
. OR
ncig
8 (2) “What are the different methods of payment in foreign

frade” 9

(7)
j(b) Discuss various measures taken by Government To
a

i Promote FDI .
s g R R
i
&%2 i) e FI (Degradation)
ﬁﬂ:m L L
m)SAARC
A ly ASEAN

P.T.O.
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AV

State the circumstances leading to the appointmen;
of ‘t

, . he
committee on the financial aspects of corporate 2oy
€

under the chairmanship of Sir Adrian Cadbury i the |
Nite

Kingdom. Describe its recommendations regardine the B
’ o Oard

of Directors. |
5

w@smﬁmqﬁuﬁwm{ﬁﬁamﬂ

§ forf Tete @ fade Tegel W owhhy o

fgw &1 W 3T aRfeafed w1 ool i e

oy dea @ fawfel & R § ol i
Or

(3797a)

State the circumstances leading to the passing of ‘‘Public
Company Accounting Reform and Investor Protection Act”/
“Corporate and Auditing Accountability and Responsibility
Act”—popularly known as The Sarbanes-Oxyley Act of 2002
in the US. Describe its recommendations regarding the

oversight of public accounting firms providing audit services
(““Auditors”), ' 15
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. ringul between | .
D,gtméUISh egal and ethicg]
responsibiliti
es of

business. State whether you agree With the v;j
vView that

mandatory corporate social résponsibility (CSR) has bl
urred

this distinction. Give reasons for your answer
. 15

mﬂ%émﬁmaﬁiﬁﬁmaﬁaﬁﬁwml
gaEd % F o W gfewm ¥ wemw ¥ f
FARIMHE (Mandatory) g g ifes @ o
fgahTOT (Distinction) YST (Blurred) @ w T 7 W
IR H d S|

Or

(31
(@) A holistic “concept of corporate social responslibil'ity,
according to Archie B. Carroll, consists of economic,

legal, ethical and discretionary responsibilities. Of these,

state what category does philanthropy belong to ? 8

(b)  Discuss the relationship between strategic planning and

i . 'R B 7
corporate social responsibility.

P.T.O.
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(@ T e Qi FEERT (Holistic) Sy
g . 0@ F OSHER A ¥ 3 Ml
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» T frEeE eiR frri wmf ot 8

= Y HT G9H SIS

Preamble to the Constitution of India seeks to secure to all
its citizens, among other things, EQUALITY of status and of
.opportunity. Clarify the meaning of the term Equality. ‘State
the government policies that aim at securing equality in

India. Discuss how this ideal may be realised within a

i, | BT
SR WA T gedren wsh AR @ geen T
F R, I AW, Refy ek sex @ wHEd A
T WS A o wme wamw) wwa # @A
W&ﬁm%@qﬁﬂwﬂﬁﬁﬁmaﬂﬁm'
wwﬁwwﬁmﬁamm‘@m
%Waruhaﬂfam , |



o) 574
Or
-; (3Tga)
W preamble to the Constitution of India seeks to secure
to all its citizens, among other things, JUSTICE, social,
% | economié and political. Clarify the meaning'of economic

justice. 8

(h) State the means to securing economic justice. Discuss

| how this justice may be ensured within a firm. 7

(@) gTd & TeuH 1 e @ AR Wbl

i i i why was
State the scandalous happenings at Enron. Discuss why

gest audit failure in addition to being

Enron cited as the big

o p ‘ g jati i l n hlStOl'y at

t ] r { y ation - n met ca

€ lar oeSt l)ank uptc reor anzia n A e | |
) E'X 1€ ‘ tllele is an i n f1 to this

t‘ i lTlil l 1 ll;ldlan connec 0 h

nat time ! a n (o l

Scal\dal. 5
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(b)

(a)

(h)

i
Or
(3rerd)
(@) State the common governance problems noticed in

various corporate failures [You may present your answef

ble comprising . (i) Name of the
8

in a two-column ta

Scandal, and (ii) Governance Problems].

- . » . he
Describe briefly the response of the regulators 0 t
7

breaking of the Satyam Scam in India.
faf=y fmdty ergwerared | w7 Lkl e
qrens @ gul wAfw [T S Gl
@t TRt (j) Srerarsh @1 A 3R (1‘1‘)‘17"’:rg
e # YR w §hd 6

|
|
i
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- the characteristics of an ethical organization. Dijscuss
|15t

role of leadership in this regard. How are corporate
the

covernance and business ethics related to each other ©?
Clarify. 15
w ¥ wer ® favmmel w1 gEe s
W T § g oqfae & o i) fr

Write short descriptive notes on any three of the

followng - 3x5=15

(@) Meaning of welfare state =

() Consequentialism as an approach to moral -reasoning
() Any instance of whistle blowing in India or elsewhere
(@) The meaning ‘of corporate sustainability

()

Ethical issues arising from globalisation.

P.T.O.
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frefefod & ¥ fFg dF R e oy foofin
fﬁf@m |

(@) AT IMEA  (State) HT Y

Y e e . F

(b) I TafeTey (Consequentialism) A

T ® oI T wEe
© W W T You H I IS (Whistle Blowing
c ‘ | ‘

HHE T

ﬁmﬁra. ' t
(d) i aRofrrar @ aef (The meaning of corporat

- sustainability) '

(e) ﬁm@mﬁmml
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st g sfErd B

Write short notes. in 50-60 words each, on any five of the

following : 5x3=15
(@) Para language

(b) Difference between Listening and Hearing

(c)  E-mail etiquette

(d) B‘ibliography

()  Clarity 1o




|

(2)
575
(/ ~ Grapevine

(99 Need of correspondence in communication,
frefafas § @ fedl 9 ® 50 4 60 W=t 3§
ThE W gferg fewfmr fafew .
(F) T Ao
(@) s R gR d s
(M 307 fireER
(%) T
(¥) e
(%r) PREIES
(B) g9k ¥ TER S CEDE Tl
2 (a) ‘Co'mmunigation, in an organization, is multidimension!

Explain briefly the different channels based on directio

of communication,

W37 H HoOR Sgeen g ¥ | guR F feanl
R S fafi wiel # de d O
e | |



(b)

(a)

(b)

N 7

RYB)
Or

(3t

What is the role of Body Language in communication 9

What are its elements ? 10

Wﬁ%@wﬁw@w@?ﬁ%?'m
qd HEY % 2

You have purchased a mobile from a reputed company.

The mobile is not working efficiently. Prepare a com-

plaint to be sent through e-mail (use imaginary e-mail

D).

qR T foemd ®U W OHeRA @9 ¥ O
Teee Ed 4 FM e R W €| 3
3 Sfw Ot WA et Rrerm HOAET FR
R (Pfead -39 D F TEE )

Or
()

You are Administrative Officer of Radhey Industries Ltd.,
New Delhi. Mr. Ranveer Sharma, the Accounts Officer,

ion
has absented himself from his dutles without intimat

the
to the company erte a memo, informing him about

[ 10
cut in salary for the period.

P.T.O.
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+ (@) Draft the minutes of the meeting of the Board of
Directors of a company at which the following decisions

were taken :
*  Approval to open a branch in Jaipur.

*  Approval to raise a bank loan worth rupees 40 lakh

Appointment of new auditors
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. 40%@@@%@%%3%@@%
. A Tl w frghe .
. fox fosm = 20.000%2?%'-%341@
el F ® FEEm e ey §
IR G I I ot T N
w1 H ffm
Or
(3teram)

(b)  State the characteristics of a wood report. Describe the
steps involved in preparing the report. 10
T T &) fodroanstt #1 Seorm wifsw | {9
TR W A gafyg =0l e gue SRy

) - 5 %
Make 4 precis of the following in 1/3 of its length and suggest

@ suitable title - 8+2=10
Mol @ o & 15 W H HET Hf sk
SR v gEen

As Certain rigidities and weaknesses were found to have
developed in the banking system during the late cighties, the
GO\/ernment of India felt that these had to be addressed to
®Nable the financial system to pay its role in ushering in a

More efficient and competitive economy. Accordingly. a high-
P.T.O.
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(6)

level Committee on the Financial System (CFS) v
on 14 August 1991 to examine all aspects relating |
O the
structure, organization, functions and procedures of the fi,
‘ ' an-
cial systems. Based on the recommendations of the Committe
a comprehensive reform of the banking system was introduced.

in 1992-93.

To review'the record of implementation of ﬁnancial,system.
reforms recommended in 1991 by the Committee on Financial
System and chart the path of reforms in the years ahead, a
high-level Committee on Banking Sector Reforms, under the
Chairmanship of Shri M. Narasimham was constituted by the
Government of India in December 1997. The Committee sub-
mitted its report in April 1998. Some of the recommendationé
of the Committee, on prudential norms, Capital Adequacy Ratio,
Clasgiﬂcation of Government guaranteed advances, provisioning
requirements on standard advances and more disclosures if
the Balance Sheets of banks were accépted and implemented
Recent major initiatives undertaken - for strengthening the

finan (
cial sector in pursuance to the recommendatlons of the

abov .
€ COmmlttee relate to guidelines to banks on Asset

Liabil
¥ Management gpgq integrated risk management syste™




' |
(7) ' 575

mpliance with Accounting Standards, consolidated account-
0

g and supervision, fine-tuning of prudential norms for
ncome recognition, asset classification and provisioning for
NPAs, etc. The guidelines on setting-up of Off-shore Banking
Units in Special Economic Zones, Fair Practices Code for.
Lenders, Corporate Governance, Anti-Money Laundering meas-
ures, Know Your Customer (KYC) norms, Corporate Debt
Restructuring (CDR) derivatives, guidance notes on Credit Risk,
Market Risk, Operational Risk etc. are other important devel-
opments introduced in the banking sector in recent years. RBI
has also iss-ued revised guidelines on migration to Basel II
Framework on Capital Adequacy. The Securitization and
Reconstruction of Financial Assets and Enforcement of

rSecurity Interest Act, 2002 has facilitated NPA management

by banks more effectively.

In 1993, in recognition of the need to introduce greater'
competition, new private sector banks were allowed to be set
Up. Licenses were issued to 10 banks which had satisfied the
Necessary regulatory requirements. Subsequently in 2001, fresh
guidelines for setting up new private sector were issued and
two banks were issued license under those guidelines. A draft

PT.O.



575

(8)

ATA

comprehensive policy framework  for OWnership anq gove
y €rn.
ance in private sector banks was put in the public domg;

2 July 2004 for discussion and feedback. After taking i,

consideration the feedback received from g concerneq gy

.in consultation with Government of India, RBI issyeq detaileq
Guidelines on ownership and governance in private sector
banks on 28 February 2005. The underlying principles of the
guidelines inter alia are to ensure that the all banks in the
private sector have a net yvort-h of 300 crore, ‘ultimate
ownership and contro] of private sector banks is well diver-
sified, important shareholders_ (i.e. shareholding of 5 per cent
and above) conform to the “fit and proper’ criteria. The directors
and the CEO who manaoe the affairs of the bank should also

satisfy the “fit ang Proper’ criteria. The guidelines also provide

for
restrictions o Cross holding above 5 per cent by on¢

b
“M/Financia| Institution (FI) in another bank/FI and

Observance
of sound Corporate governance principles.

(555 words)
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Ay,
Define Investment. What factors should N inyeg
’ - or

consider while making an investment decisjop 7 s
ffreim @) aRefa HINT | T fafim f
FH T N AR fafEeE ® e
§ @ et ?

Mr. Vinayak purchased the share of On-Line Ltd. for

Z 50 five years ago. During the last five years, the

share exhibited the following average price and the

company declared for the following dividend :

Year Price Dividend
(in 3) ..(in ?)
' W 5
2 . 76 6
3 80 6
4 104 7
: 120 8



V

30)
( ST7

Find average returmn and risk of the investor using the
“ o

data given above.

ﬁ‘Wﬁaﬁ"W%{.EBSH-ﬁT@
+ 50 T AT WA  fred 5 adl § s @
frefafEn qea el ok w3 frfared
e =ifva TR |

(z W) (z )
1 0 | y
2 76 6
3 20 6
4 104 7
5 120. 8

P.T.O.



(d)

L o
Or
(3rgam
Distinguish between (any (wo) : g

() Expected return and Realized return

(i)  Beta aﬁd Standard deviation

(i) SENSEX and NIFTY.

frdl @ d sim wR

() ARNT ST lafl'{ El K]

(i) W IR AHE famem

(i) R sl frot |

Mr. Abhinay makes an investment at ¥ 100. T°

yea[‘-cnd 1 . : |
Price of this investment under differc
market condiri. Ve
Onditions apg their probabilities are giver

below -




Conditions

Bullish

Normal -

Bearish -

(D)

year period.

(i)

Year-end price
X 160
3 120

X 80

577
Probabilities
030
030
040

Find out the expected return and risk for one

Also calculate inflation adjusted return if the

rate of inflation during the year is 6%.

M. sfima 2 100 &1 fafEeT =@ ¥ 1 i

Wwﬁﬁaﬁ%mﬁﬁﬁmﬁqm

o1 T K Yed
aS w T R 160
= Z 120
e H1 @ % 80

BRI

o

030

030

040

PTAL
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(a)

V),

(i) Waﬁ%mﬁﬁ}ﬁ‘wgh%
&I TMOAT HIfAT |

@ afe qIERIfT #3369 @ 5
TR AT A e g
Hifsa |

Differentiate between (any mwo) : 5
(9 Systematic risk and Unsystematic risk
(i) Yield to Maturity (YTM) and Yield to Call (YTO)

(iii)  Secured Premium Note (SPN) and Deep

Discount Bond (DDB).
fFgf o d s =ifSw
() T e s RodaEs e
iy fgEEE Wy wfer (yrm) 3R qa ¥
S (v

Giy  FHfeR i e spny 9RO ¥

YT (DDB) |



(b)

The following

a bond :
Face Value
Market Price

Coupon rate

Investor yield

Time to maturity :

577

information is available in respect of

< 1,000

< 879

8%

10%

4 years

Find out the Yield to Maturity (YTM) and Instrinsic

Value of the bond. Should the investor buy this bond

based on YTM and intrinsic value ? 10

ww dugs @ ued # frefatem W

W%:

afpa A

¥ 1,000

T 879

8%

— L

P.T.O.
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qﬁnaamﬁaﬁu(wwa?nduwmm

(Intricate) HeH IREAIG LN RESEK & Ak
RO |/ A (YTM) & 38R W ffpis
# U wlen =T 2

O’.
(3t

Examine the relationship between Time to Maturity and

Bond Valuation. 5

TRuFaar & g s dyad goaiwd @

A WY & U0 HifGE |

Mr. Ashutosh is considering investing in one of the

following bonds :

Bond A Bond B
Face Value Z 1.000 Z 1.000
Coupon rate 12% 10%0
Time to maturity 10 years 7 years

00 |
Current market price % 700 20
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[f Mr. Ashutosh’s income is taxed @ 30% and capital
gain is taxed @ 10%, find the post-tax Yield to °
Maturity from these bonds using approximation
method. Which bond should be selected by Mr.

Ashutosh ? 10

fg. oMy frefafed suwi § 9 T A
fafdem ®a =@Ed ¥

qUAA A SgUA B
fera A Z 1,000 % 1,000
HIT - 12% 10%
qfiggaan @ A 10 9 7 Y
SdOH SR HH Z 700 Z 600
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(a)

()

( 10 )

Define credit rating. Do you think thy hicl |
o o Credjt

rating is a recommendation to buy the bond 9 ¢

g@@vﬁmﬁqﬁ“ﬂﬁﬁﬁﬁq|wm
g ¥ fF IeT W@ AU ®odwgr o

fawfsr & ?

The following information is available for S Ltd. for

the year 2014-15 :

Annual turnoVer

Profit

Equity Sharé Capital (FV =% 10)
Capital Reserve

12% Preference Share Capital

13% Long-term Loan

12% Debentures

Tax Rate

Dividend payout ratio

Price Earning (PE) ratio

~ % 1,00,00,000

-

m

10

30%
Z 10,00,000
7 5,00,000
2 15,0000
7 12,0000

z 10,0000

30%

50%

15
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Find Earning Per Share (EPS), Dividend Per
Share (DPS). Market Price, Earning Yield and Dividend

Yield.

a8 2014-15 F o wE. for + fau frs g=
A §

EIEERTEN Z 1,00,00,000
Y ' 30% -
qEAl AW YS (FV = T 10) Z 10.00,000
ISt o | % 5,00,000
12% AMYHE 379 ﬁ'gvﬁ' 2 15,00,000
13% 9= ®oT . Z 12,00,000
12% SBO9H | < 10,00,000
FL T | - | | 30%

YT IRl ST
(Dividend Pay-out Ratio) 50%

I w1 ged b WY

SUM (PE Ratio) . 15
- | | P.T.O.
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(d)

( 12) U

s w g B W UM ST (EPS) Wy gy

ST (DPS), TN T, T A 3R ey
afsg F O HIST

Or
(3797)

Explain how Point and Figure Chart (PFC) and
Candlestick Chart are used by technical analysts to

predict future behaviour of prices. 5

fog 3R Y@fas (prc) iR Higemt @R AT
F qedl B WEt =R @ R g e
oW fed s ¥

Rajan Ltd. has just paid a dividend of ¥ 2 per share.
In view of the rapid growth of the compémy, .the
dividend is €xpected to grow at 20% p.a. for the next
three years. Subsequently, the earnings are eXPeCted
o grow at only 79 p.a. infinitely. With the 6XPeCted

Fate Of r

shoulq
be eady to pay for the share. 10
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_Wfa.ﬁaw%ﬁmﬁmngﬁwmw

fFm € 1 A A 9™ % fon wme 9

20%3’5’%@3’@3%|mmﬁ‘

H wad 7% WA T AFREdERE w @
ST % | A AR W 2% A, @
MG 368 god &1 59 W &9 % Y &
fu fafrEes yER # TR ¥

“Capital Market Line shows all the combinations of

risk-free investment and the Market Portfolio.” Explain

in the light of this statement meaning and features

of Capital Market Line (CML).

e Y
Em@mﬁ@WW(CMU

g

& o o fame W T A

P.T.O.

LN



(b)

(14 m

From the data given below, find which of the follow.

ing securities is overpriced/underpriced/correctly priced

using. SML equation or CAPM ; | 10
Security B | | Actual Return
A 12 2
B I.Q 15
C 16 2
D 20 %
E | 0.5 o g

" | .
v Telum on the market index is 15% and risk-free

return is %,

T e HFS A Frerfiafiom wfeafirt €
a‘ﬁw/amw Pt S i ey g SML

Rk e
T cAPM MO =



()

577
gfafa B Tt T
A 12 20
B 1.0 15
C 16 p2)
D .20 24
E 05 8.

IR gEhh T ATHl 15% R sifem Uea
Ot 6% © |

Or
(31xQ)
Whét is Mutual Fund ? Explain the difference

between Open Ended Mutual Fund and Close Ended

Mutual Fund.

PG

v~



(d)

( 16 )
n

Two securities A and B have variance of [3 4,
ang |5

. 50
and expected returns of 15% and 18% respectively

The covariance between the returns is 3. Find out the

return and risk of the portfolio if the ratio of invest. |

ment In two securities is 70% and 30%. 5

# 70% 3 30% T |
t
The shares of Blue Diamond Ltd. arc qUOted ’

. _ oo PIICE
Z 25. Mr. Grover writes a call option at @ strike P

' . off
of% 22 and a premium of ¥ 3. Calculate hiS net P2y

; : or
ifthe market price on the expiration date i5 3 24

%26 or T 32 or ¥ 35. At what market price Mr. Of

w‘ . - i «
il be in no profit no loss situation 7



(@)

)

(c)

C 7o) 577

=] TEHS . & S H FRYH 705 ¥

1. WR I FF fa6e9 (Call option) formy 3
720 F WEF Yod R Wfiem 13 % 9R
IR T THE AW H T 24 A T 26 A
T32 W358, A A s U-3F Fary |

8 SR qea | . Mo sremmeny =t fefy
q ' ? |

Explain the role of correlation coefficient in the

construction of a portfolio. 5

TE Ui & e § wewery Uik i
qfHeh s |
What do you mean by futures ? How are they different

from Forwards ? 5

‘! (Futures)'\ef 39 S FHeSd T 2 9 'yat’
¥ &4 fF T

An investor buys a NIFTY futures contract for
¥ 2.80,000 (lot size 50 futures). On the settlement date
the NIFTY closes at 5512. Find the profit/loss if he
pays ¥ 1,000 as brokerage. What would be the position

if he has sold the future contract ? 5

P.T.O.



(d)

(¢)

( 18 ) sp
e fafrEr 1 ¥ 2.80,000 (T STHER 50 ey
2 e | fraer & T MR 5512 R g
o 3 | afz ¢ 1,000 GO @ ST @ 3w
Wﬂ_aﬁm\aﬁm | o feafa gt afe 3w
et dfe w1 s fem @

Or

(3197)

Discuss :

()  Book building

(i) Rolling settlement.

& HifT .
() Y& f8fr (Book building)
(i) Tfem fier (Rolling settlement) !

enlain e . hret
Explain Efficient Market Hypothesis and the t

f' . . » ’l Ul

Ot of Market Efficiency. What is the leve

o 5

efficiency e , '
'ency of the Indian Capital Market !




( 19) | 577

G SR WERRET $R SR wam
A @l H T W T 7

Calculate the NAV from the following information for

the year ending 31s‘t March, 2016 : 5
Cash and B;cir}k balance. | | Z 7,50,000 |
Bonds and ‘D_ebentures | % 8,00,000
Equity (Current -market'valu_e) .? 16,50,000
Quoted Govt. Securities ' Z 12,05,000
Expenses < 9,50,000

0,000
No. of units 2,00,

If the NAV. on lst April, 2015 was ¥ 20 per unit,
calculate the expense ratio.
ﬁr:rfaﬁémzﬁmﬁaﬁmnﬁ 2016 1 NAV
F O IS

‘ BIL % 7,50,000
JHg SR T

' Z 8,00,000
Suqy i oA
| PTO.



( 20 ) 571
gyal (Id9E 9N god) Z 16.50,000
TR afayfaar W 7 12,0500
2E ‘ | Z9,50,000
el # g : 20000

I NAV 1 379, 2015 1 7 20 WA Tk 9,
M TH FI wt T T |
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Condition Probability Rate of Return | Rate of lm
on A (%) on B (%)
Bad 0.20 15 50
Average 0.30 20 | 10 7
Good 0.20 25 15

(1) Calculate the expected returns and wishes on

Security A and Security B. Which one should an
investor choose ?

- (ii) Suppose an investor has Rs. 20,000 to invest.
| She invests Rs. 15,000 in Security A and the
remaining amount in Security B. What will be the

expected return on her portfolio ?

(%) fafdm @ wforfe w@fe | Rfd @ gt wi W7

(=) W%WWWAB,C,@?D?}'@WH
| wﬁm%taﬁaﬂzﬁzﬁra(maﬁwmﬁ(p)fﬁ%
&

i T\'§ %
— B | C -

§ ] 00 l)
A TR | P | R
R(%) P R(%e) —— T 0 | .20 -10 10

‘ 15 - e

-30 20 =20 —-—;;"T 40 |0 25
0 : vl 40
0 it ._-/0—/”‘;;"“ 40 | 30 | 10 A0
e 2 —T""20 | 20 25
30 | 30 | Bt e [0 [ 0 |
10 40 1 N e)

|70 10—
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(i) = TR e ﬁﬁm%ﬁ .

(i) e - amﬁﬁﬂﬂanmﬁ‘a W@;m
@ 2?7 .

emar'
(=) Wi W TEEW W OSMR & T 9w

(a)aqﬁﬁ%ﬁanihB%'ﬁﬁ?fﬁﬁ%ﬁ)

2
Condition | e | A® A |
| R (%)
T
Al 020 | BT 1y
S 03 | 200 |
Sl 020 | 2 ]

wﬁ&ﬁAaﬁrﬁwﬁrBﬂamﬁaﬁ‘;_
<A | wﬁﬁumﬁﬁ%rﬂa‘"? |

(u)ugmﬂﬁgq%ﬁﬁum%ma%
215,000 RN A ¥ aﬁtﬁﬂﬁ”‘z

ﬂm%%w:ﬂﬁ?ﬂ@ﬁ%ﬁ‘ﬂ?mﬁ |

tyed in B

2. (a) Discuss various types of risk invol’



1715 .

(a) Write short note any tw
any twa of the tollowing -
(1) Technical Analysis
(ii) E-I-C Approach
(111) Walter's Model of Share valuation

b -AB | i /idi i
( ) A .C_‘Ltd. I1s providing following information on their
future growth :

Yecars Growth rate I

19 to 3 6% ]

4th and 5t 8% i

6™ onward, for ever | 9% ]

" The company declared a current dividend of Rs. 3 pu

expccted rate of rcturn s

'-sh‘are If the shareholders’
(0)

12%, find the fair price of the share.

(= )' a"?:f' Afe g w1 e (PIE) I H fafanr i
%r =& $F ww A @ S g7

| (?a)»m-c?r JAT 15% am’(ﬂ £ s @ MET - HEH Cile e

| aﬂ%mﬁ?%mﬁﬁfé{ﬁlﬁﬂﬂzmﬁluﬁr};pg

| '?12 2 & fafm @ arré & (ROI) 25% @ of s IuT

P.T.O.
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0% () 60% (i) 40y,
& sl O ﬁ&wl B
() freferRad w%{ f‘a‘véi aqza‘a i?vm
(i) aﬁr’\i?‘? fargeraoT (Techmwl Analy

(i) ELC rrg-a (E-1-C Axpplodc)

(i) s e (e vaator]

@) ABC f 3 BIEL M Al W

s

4. (a) Write short note any two of t.hb

(i) Portfolio Diversificatio”



(i) wEweRo (Covariance)

St B % mx w4 a0

(iii) W A T 60%

Eﬁﬂvmr‘cﬁﬁq,

STerar

am WU J\l”,cﬁ WT‘C-F’» “\

B w 40% B B s

() 8 w=ifes Bl e w sk dm .
BERES L GO C L S T ol

(@) M RY @ s, SML whewor @ CAPM &1 warT o3
T TR R B Rl wRfm semete i
Ffeaieng 8 1 A quets W oA 16% 2 sl S
Wa waf w amd W o5% @

Security Beta Actual Return
(l‘)/(’))
A 1.6 I 20
B 0.5 ] 12
C 1.8 I 22
D 2.5 l 30
E 0 l S

1
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5. (a) Define “Derivatives”, ng are “Fq
‘ory
different from “Futules contracts ?

(b) Surveen purchased a one-indﬁth 'Ca’ll Opti
at Strike Price of Rs. 40 from Sunnt
decided under the contract was Rs, 3, I

of Surveen and Sumit if the_shale price

Condition 1|2 3 4 |5

Share Price at o, B
Expiration (Rs) 20126129343

Also draw a diagram showing. Survee

payoffs.

OR

(a) (i) Explain the nature of'Por't:fbtlio Riski
are : - R s
' 1

1at_ccl

p—

Perfectly posuwely 00116

K‘J

Perfectly negpatwely corlﬁ‘lﬁt ed

3. Zero correlated.
of !

ns
(ii) Discuss in brief the thfce forl ent ¢

Hypothesis (EMH) for. mvcstﬂ

| ha$ |
(b) Sun and Moon are two fundS' ub . 54

S 1
of 0.15 and Moon (.22. The Beta 1



1713

13 g

and Moon’s Fund has double the beta

of Sun’s Fund,
The standard deviation of Sup and Moo

n funds are 159
ely. The meanp return on market

o and its standard deviation jg 7. The risk
iree rate 1s 8%,

and 21.43%, respectiv

" ~ . "0
incdex 1s 12

(1) Compute the J ensen index for each fund.

(1) Compute the Trevnor and Sharpe indices for the
£
1

unds and also interpret the result. - (9)

F) === (Derivatives) = uwRviim =ifwg 1 zafE

(“Forward”) ¥@e® & (“Futures”) #fem fFa wom

Y

-
= 77

) TER T T ¥ TH-AE W w100 S A

T : : fem 21 afdm § WFEE
T (Strike Price) T40 | ¥4 ?

33 g fror T | GR oRTEEE W FY A €A TEE
' |
$r == ® Payoff W F T HR

7 '\
- BRERERERER LI AN
o ]
» 50|
aftqeras W) 50 | 26 | 29 | 34 | 36 |40 [48 | SO
- 2
Bl sl e

P.T.O.
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equation or CAPM. The retury
and return on risk free asset g

Sccurity‘ | BetaT
A 1.6 |
"5 [ T
¢ | 1s N
D 2.5 /
E 0 l

(%) el & & frdl & w =y
(i) SRR fffwr (Portfol

(ii) wRwRy =R @@ (Line) @

(iii) w13 o1 e FroreT T

(@) fiod & wif ¥ whw A oB 7,

@ 2 |
B
2014 [ 12%
2015 | 18%




I |
(115 9

(ii) Security Market Line and Capital Market Line
(iii) Sharpe Portfolio Performance Evaluation Model

(b) Stocks A and B have yielded the following returns in
the past two years:

)
Years Return
A B
2014 12% 14%
2015 18% 12%

(1) What is the expected return on return on portfolio
made up of 60% of A and 40% of B?

(ii) Find out the Covariance and Coefficient of
Correlation between stocks A and B.

(iii) What is the risk of a portfolio made up of 60%
of A and 40% of B?

OR

(a) Critically examine Harry Markowitz Model of diversification
giving its assumptions and limitations. '

(b) From the data given below, find which of the following
securities are underpriced and overpriced using SML

PT.0.
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Irerar

(%) frffed X ¥ el & WAy R
(i) IR A @R (Insider Tradin

(i) @& oo (Credit Rating)
(i) =t T, R

(@) xyz f s T (st T =
Tiw (s)waﬁmﬁﬂﬁf%ﬁmf-
wﬁaﬁ@ﬁ@%laﬁﬁﬁﬁﬁf
7%?.1%%3?6{3&@1%%
HRAT |

3. (a) Explain Price to Earning (P/E) ratio-
investment decisions ?

' ' | tt
(b) Mrs. Meena has required raté of 1€

0 t‘

made investment in shares of Rama L
: s

Model. Find the value of the ghare

g - ' : o, &
return on investment (ROI) 18 25%;
is:

) 0% (ii) 60%  (iii) 40%

OR



the bond.
OR

(a) Write short notes on any two of the following:  (6)

(i) Insider Trading

(i1) Credit Rating

(i) Relationship between Interest Rate, Time To
Maturity and Bond Valuation.

(b) XYZ Ltd. is considering issue of 8% bonds redeemable
i five (5) equal annual instalments in proportion of its
face value (Face value = Rs. 1000). If the investors’
required rate of return is 7% p.a. find the price at which
these bonds should be issued to the investors. 9)

' R
(%) =s (Bond) A W ga /At 9ER E{;‘r
Fulg g | K
(@) e for @ e FdE # ?850W3qaw%|saqta@;r
3T55°} ﬁﬂqﬁmwwfﬁsaééla@quﬁm
wfr (YTM) = U T | ‘af'?:~ BN
3 9 =i 3@ (Collable) ¥1100 g, YRl

W & wfa (YTC) 7% P.T.O.
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1. (a) Define Investment. What are the o,
i

(b) An investor has a choice of
for investment. Their ¢

(p) are given below :

four s
ates of retury

A B o
R%) | P | R | P | R,
-30 .20 —20 15 ~20 ;
0 .40 0 35 10 4
30 .20 20 45 40 3
70 .10 40 .05 80 1

(i) Are all the stocks attractive ir
reason.

e . & erf
(i) Based on Risk-Return conside
3 . ?
most attractive investment

OR

. ' . 1 sto!
(a) Discuss the trading mechanism 0
- India.

. ‘ ’ 16 in
(b) Following information is availab
S€curities A and B :



() (i) dEwHfr MRm o
v % K

I EHE T e
m
2, QUId: AARTTE Hmﬁ.l

il
3. T WEEART:
o

(ii) ET WTSAR TR (EMW
YeERY @7 gl @I |

st

(@) == sk w A @rr (Funds) 17
3 anmaﬁaa‘wf?f?mdﬁvcﬁ

wiem W 0.15 o W 022 %
A R 15% W 21.43% 4
Mo A 12% & SR A

8% 2 1
(i) ww AW @ T R E

(ii) A =Py & forg 2 A

| maﬁm sitc Rt cﬁ‘ﬁa
|

}

{
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o |
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Wy @ oF w0 2
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39 §g - g9 &l ST

I wrem o A e e |
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— Income from house property in UK
deposited there

Rs. 80000

— Profit of a business set up in UK, controlled
from India but received in UK Rs. 220000
Compute his Gross total income. (5)

(%) “Pod 9§ & s w fuko o ¥ o o w2

F T WS ¢ 7 9 WD T gmar o ¥ 7 fidemr
HRIRIT |

(@) ‘A%, 10.10.2014 < YEe} WK 3PRET ¥ WRE FA IR FE
572015 9% Wl TS W€ 95 JNAST 999 FA IR |
Frefor a8 2015-16 = fow S s Ry v 2 7

(1) “omdm Fod i ARG A R AR 1 R AT A B 7
SE wUT & TEW ¥ FE 6 e Rafr @ Rl
& e et 1 IR Hifeg |

J1erar

() ST T D SN A e o R & Rl B e
m%?%ﬂ@miﬁﬁvwﬁuwﬁzﬁf@ranﬁﬁm
e 7

(@) vw wuRe: aﬁrﬁﬂﬁﬁzﬁﬁﬁ%ﬁmﬁrﬁdﬁfaﬁaﬁﬁqﬁé

A2 P.T.0.



e
w
wn

zs. 100000 (WDV Rs. 60000). Company recovers Rs. 3000
-~ for this house from X.

He is provided with a 2000cc car for official & priv

‘ate use.
i]. expenses & driver’s salary amounting to Rs. 20000 p.a
wzs paid Oy employer. Interest free personal loan of

-\gl

Rs. 300000 was taken by him from employer on 01/12/2014.
SBI rate of interest for such loan is 18.50%. A laptop

rHITONS

purchased by the company on 10/05/2012 for Rs. 120000 18
sold 10 him on 16/08/2014 for Rs. 18000. During the year
ce received leave encashment of Rs. 20000 from the
cmployer. Bill for the mobile provided to him paid by the
tompany 1s Rs. 15000.

He deposited Rs. 70000 in Sukanya Samridhi Account of his
:'aughter, paid Premium on LIC policy of his son Rs. 40000
sum assured Rs. 5,00,000 policy is taken on 10/10/11)
Pirchased NSC IX issue worth Rs. 50000 & donated
Rs.20000 to Jawahar Lal Nehru Memorial Fund. He sold
stme shares & debentures and made Long Term Capital
Gzin of Rs. 180000 on them.

‘ . tability for 1ent
Compute taxable income & tax liability for the ASSCSS’ZIS)
Year 2015-16.

OR

(a) Explain the provisions of Income Tax Act regarding

exemption of —

P.T.0.
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38 PRI ¥ 20000 B st @y Yo

Rafiw e
?lﬁmwm,ﬁmgmsﬁﬁm e

™2 15000 . #

I FE I8 B g w3 70000 = S T F 1 gy
¢ 1 LIC 9 T 40000 & Wi foar 3 (S wfdr 500,000
T 2 3R UfeRl 10.10.2011 = W G) ) s 50,000*5.%%
NSC S=ed Flr = wade ﬁnmw%méfaﬁ

30000 ® T Ry 3ed wm w IR RA=R 37 Ry ok o
T 180,000 = <reiafy § @ affy fiwa |

Tl o 2015-16 & Toe =@ sm sk @ efeg @ afrmes
FIWT |

AT

F) Freafofeg <t g ¥ wW@i| sm o= sRbmr ¥ 8
TEEAIS ] T H -

(i) = =t e gw o T fRe qee s
(i) Feg-=w-darfgie dEe uwr 10(10) & sfta

(@) wdaiar 3R 9 W & weedl i e g § s
¥ g weersl @ e A

(a) A, aged 63 years owns 2 houses. Their constriction was
>

completed on 01/02/2014.

P. 1.0k
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-
o

OR

(a) A transfers gold on 10/05/2014 (sale consideration
Rs. 3655000, expenses on transfer Rs. 55000). Gold was
purchased on 23/06/1982 for Rs. 300000. To get
exemption u/s 54 F, A purchases a residential house on
12/05/2014 for Rs. 2700000. However he transfers this
house property on 29/06/2016 for Rs. 3000000. What is

capital gain chargeable to tax for the assessment year
2015-16 7 '

Also compute tax liability for the Previous Year 2014-
I5 on the total income taking into account A’s income

from lottery Rs. 500000. He also contributed Rs. 50,000/-
towards NSC IX issue.

CII for Previous Year 2014-15 1024, Previous Year
1982-83 109. (10)

(b) Explain the provisions relating to exemption of capital

gains arising out of transfer of residential house property
u/s 54. (5)

I}

(F) 63 a8ig ‘A’%W%W%|mﬁ’ﬂf}’r 1.2.2014 =t
B I o

2.T.0.



e

SA o

mﬁm,ﬁ%m%mm@uﬁmimw%qﬁ
Mmm%wmﬁaﬁmﬁﬁﬁmm
@quﬁ?m%waﬁzﬁm%%%mmr%l

@

Jrerat

) A 10.5.2014 T G TR A B (Rreren fal e
36.55,000 %, TR T @ 55,000 ® 1 WA 300,000
5 W 23.6.1982 Y @RS WA AT | N 54T @ et B
e wY @ fw A A 27,00,000 ® & g 12.5.2014 &
aﬁ@amﬁaa%mlawﬁaza{qﬁmiﬁmaﬁ
30,00,000 & ¥ 29.6.2016 =Y erraRa w7 1 R
ﬁzols-lé%mmmiﬁwm%?m?xﬁ AT
e | 5000003.a%m@mﬁam%§ammﬁa€r

(@

NSC IX fafa & 50000 5 o 2 |

Ao af 2014-15 & fow CI1 1024 #rk frow a¥ 1982-83
& g CII 109 2 |

(=) aﬁlﬁﬂqsﬁqﬁr%ww%umﬂ%mmﬁﬁm
qu&%éﬁfﬁamﬁﬁmzﬁml

rovisions of Sec 44AA & 44AB

{. (2) Briefly explain the p
audit.  (5)

regarding maintenance of accounts & their

P.T.O.
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¥ and Y are two partners (1:2) of a firm engaged in
manufacturing chemicals. The profit & loss account of the

firm for the year ending 31 march 2015 is as follows :—

Rs. Rs.

ost of goods sold 1300000 Sales 2300000
alary to staff 189800 Long term capital gain 40000
epreciation 80000 Other business receipts 31000
emuneration to partners

X 200000

Y 160000
nterest on capital
to partners @18%

X 36000

Y 25200
Dther expenses ~ 370000
Vet profit 10000

2371000 2371000

Other information

Salary & interest are paid to partners as per partnership
deed.

Depreciation allowable u/s 32 is Rs. 78000

The firm has given donation of Rs. 80000 to a notified
public charitable trust which is included in other expenses.

Income & investments=of X & Y are as under

P.T.O.
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(1) T TN R T (T T R 15% ) Rk 4 o
B MY 1.4.2014 ¥ Wt & ¥ ok R weg o
TELC W R 3,00000 & ¥ afa m;mwooqo
5‘11.2014a%mm1mﬁmmmma‘na&ﬁ4jm
€ ¥ 2032015 = 3w R mr ) fwa o€ 2014.15 ?%O(gs
W AT H AT R |

afe T T W 400000 & K F B Ww @ w0 A
WA FT BT 7 )

AT

}faﬁTYwﬁ%amﬁm(l:Z)%’m‘t%mﬁmﬁﬁwm
F1 31 A 2015 H T gy A B R w o w dRoEH
o T YR B

N . | T,
TR et A 1300000 R PR
wRA A Ao . 189800 ey G @ 40000
PR S0000 =l e T 3100
Hierl &1 ol
X 200000
. 160000
Wit & o W
18% e | ¥ =
iz 36000
y 25200
S 370000
S T 10000 3271000
2371000 w

|
;‘1

el P.T.O.
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(i) What is the tax treatment of agricultural income in
India ?

(iv) What is the tax benefit given u/s 80 U to persons with
disability ? (5%3=15)

OR

Answer any three of the following :-

(1) What are the provisions rclating to set off & carry
forward of capital losses ?

(ii) Explain the deduction allowed under scction 24(b) in

respect of interest on borrowed money.

(i) Explain the deduction in respect of medical trecatment
& maintenance of disabled dependant u/s 80 DD.

(iv) Explain the provisions whereby an individual is
assessable for incomes earned by the minor child.

(5%3=15)
FefoRes & 3 &S W & I=x aftm . -

(i) | 64(1) o /9= @ grERa quf A o @ e v
e @ ol w5 2 7

(if) PR ) wmer By S @ s W@ @ 6 B
IR TN F I Y G WA T R |

P.T.O,
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5.

I G

e g e, e @ e foe % SR R
maz%mﬁrﬁwmmom%

wh 3 e e AReEs g @ 80,000 T A
%ﬁﬁmﬁﬁmﬁ%m%

Xaﬁzvzﬁmamﬁ%mzﬁmﬁﬂ%:

X

kS

FR W} S WO 120000

Sefaty qoll o 80000

grearafey ot ¥ 3000

e W o (€ 4000
T BER I A E-FTY

A ¥ ane 40000

= faet I

foreifcor 2015-16-%%12*:5#'34‘“11%@?1%
dqar & AW RN | '

Attempt any three of the following =~

(i) When is an individual assessable for inc
transferred to spouse /s 64(1)7?

rovisions relatid

(ii) Explain & illustrate the p ]
grered DY

carry forward of business losses Su
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X

Rs.
Interest on company deposits Rs. 120000 g,
Long term capital gain 80000
Short term capital gain 3000
Winnings from lottery (gross ) 4000
Contribution to home loan account of
National Housing Bank 40000

Find out the Net Income & tax liability of the firm &
for Assessment Year 2015-16.

(=) A B T @Y AR IFTET o A6 F GO
dR 44 AB T @ T oraesy @ gaw W e

(@) SART AR ey & ferg Frfefed S
wRfte H & T 2
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(b) How are the following items treated for cale

taxable income -

(i) Income from illegal business activity Rs. 5

(i) Bad debts allowed earlier Rs. 10000

recovered during current PY.

(iii) A bill of Rs. 150000 is paid in cash to a su
of raw material on a normal banking day.

(iv) Municipal taxes for business premises &
paid by 31/03/15 but paid on 23/07/15.

(v) Rs. 200000 recéived from a friend for inadt
consideration.

(c) The Written Down Value of a block (dt?pl'@Ciatio

15%) having machines A & B as on 01/04

Rs. 600000. Machine C is acquired & put to ¥

05/11/14 for Rs. 300000. Machine A is sold oF 20/

for Rs. 400000. Compute depreciation allodelc i

previous year 2014-15.

What wi f
b will be the amount of depreciation if

Machines are sold for Rs. 400000 ?

OR
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I
Let out for
residence  oc
Rs.
Municipal Value 360000 3.
Fair Rent 350000 3
Standard Rent 300000 5
Annual Rent 600000 :
Unrealized Rent for PY14-15 20000
(Conditions under rule 4 are satisfied)
Vacancy period 2 months ‘
Municipal Taxes paid 40000 '
Loan taken by pledging
jewellery on 01/05/10
@15% for construction of house 800000 10
6812 10

Construction completed on —
(Nothing is repaid on account of loan)

-
Besides, he has saving bank account interest 1B

Rs. 32000, Business income of Rs. 480000.

» 5
Compute total income & tax liability for AsSC

Year 2015-16.
(b) How is the income of a house which is self 0° pli

residential purposes but could not bé OGCUPIG

employment, business or profession situated at a7

place, computed ?
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(i) Rent Free Accomodation provided by ]

to Employee.

(ii) Death cum retirement Gratuity u/s 10(]

provisions regarding valuation of e

(b) Nlustrate
members

facilities

household.

provided to employees &
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000

18.5% 2 1 Y& ducta, B F 37 10.5.2012 = 120
e @, I& 18000 T A 1682014 @ ¥ 2 T
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1. (a) “Income of Previous Year is taxed in the As:
Year”. Do you agree ? Are there any exception

rule ? Discuss.

(b) A came to India from America for the first
10/10/2014 & stayed here till 05/07/2015. Afte
went back to America. What is his residential s

the Assessment year 2015-16 7

(c) “An Indian company is always resident in Inds
true ? Explain the provisions to determine resident
of a company in the light of above statement.

OR

(a) How is the residential status of an individual det
for income tax purposes ? What concessions are
Indian Citizens for this purpose ?

(b) A Not Ordinarily Resident assessee has reported ft

incomes :—

— Salary income received in India for

services rendered in Hongkong Rs

— Profit from a business carried on in
Nepal but controlled from India Rs
Rs

— Income from agriculturc in Bhutan
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